
©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 185

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

EHOWE



Individual Howe Scale Parts

186 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Howe Price Index
By Rice Lake Part Number

* H628 ............. $14.00 ........... 217
* H629 ............. $23.00 ........... 217
H630 ............. $18.00 ........... 216
H632 ............... $6.00 ........... 220
H633 ............... $8.00 ........... 220
H634 . Reference RL Part #15263
H635 . Reference RL Part #15301
H637 ............... $6.00 ........... 220
H638W . Reference RL Part #10367

* H643P .......... $21.00 ........... 206
H644 ............. $14.00 ........... 218
H645 ............. $33.25 ........... 202
H646P .......... $17.00 ........... 193
H647 ............. $29.00 ........... 216
H648 ............... $9.00 ... 194,199,

200,218
* H649 ............. $15.00 ........... 197
H650P .......... $33.00 ........... 202

* H651P .......... $41.00 ........... 196
* H653P .......... $19.00 ........... 196
H654 ............. $22.00 ........... 198
H655P .......... $17.00 ........... 215
H656P .......... $15.00 . 199,200,207
H657P .......... $38.00 . 199,200,207
H658P .......... $19.00 .... 199,206
H659P .......... $44.50 .... 199,200
H660P .......... $32.00 .... 199,207
H661 ............. $28.00 .... 199,200
H662 ............. $25.00 ........... 199
H663 ............. $22.50 ........... 199
H668 ............. $55.00 ........... 210
H669P .......... $24.50 ........... 196
H669PSS ...... $50.75 ........... 196
H670P .......... $10.00 ........... 191

* H671 ............. $28.00 .... 195,200
* H672P .......... $25.00 .... 200,207
H673P .......... $30.00 .... 200,207
H675 ............. $17.00 ........... 204
H676 ............. $17.00 ........... 193
H677 ............... $6.00 ........... 194

* H678 ............. $24.00 ........... 198
H679P .......... $25.50 ........... 196
H680L.....Reference Part# T142L . 195
H681 ............. $37.50 ........... 195

* H682 ............. $39.00 ........... 195
H683P .......... $35.00 ........... 196
H684P .......... $20.00 ........... 206

* H685P .......... $30.00 ........... 207
* H686P .......... $29.00 ........... 207
* H687P .......... $33.50 ........... 196
* H688 ............. $32.25 ........... 195
H689 ............. $24.00 ........... 195
H690 ............. $26.00 ........... 201
H691 ............. $32.00 ........... 214
H692P .......... $15.00 .... 201,215
H693 ............. $11.25 .... 201,211
H694P .......... $27.00 .... 201,207

* H695 ............. $36.00 ........... 201
H696 ............. $32.00 ........... 201

10367 ........... $12.00 ........... 190
10369 ........... $13.00 ........... 190
10371 ........... $14.00 ........... 190
10373 ........... $17.00 ........... 190
10379 ........... $26.00 ........... 190
10380 ........... $26.00 ........... 190
10381 ........... $26.00 ........... 190
10382 ........... $26.00 ........... 190
10385 ........... $22.00 ........... 190
10387 ........... $14.00 ........... 190
10389 ........... $14.00 ........... 190
10391 ........... $22.00 ........... 190
10404 ........... $23.00 ........... 190
10405 ........... $23.00 ........... 190
10407 ........... $23.00 ........... 190
10409 ........... $23.00 ........... 190
10431 ........... $75.00 ........... 193
10772 ............. $6.00 ........... 218
10993 ............. $4.00 ........... 218
14884 ............... $.50 .... 201,211
15256 ............. $1.25 ........... 220
15263 ............. $0.75 ........... 220
15290 ............. $2.00 .... 199,220
15301 ............. $1.75 ........... 220
18815 ............. $2.00 ........... 218
18816 ............. $4.00 ........... 218
22143 ......... $285.00 ........... 210
22145 ........... $21.00 ........... 193
33645 ........... $22.00 ........... 218
33646 ........... $14.00 ........... 218
33648 ........... $20.00 ........... 218
33649 ........... $15.00 ........... 218
H601 ............. $29.00 ........... 216
H602 ............. $26.00 ........... 216
H603 ............. $18.00 ........... 216
H604 ............. $17.00 ........... 216
H605 ............. $16.00 ........... 216
H606 ............. $16.00 ........... 216
H607 ............. $15.00 . 199,200,217
H608 ............. $20.00 ........... 217
H609 ............. $18.00 ........... 217
H610P .......... $16.00 ........... 215
H611P .......... $14.00 ........... 215
H612P .......... $13.00 ........... 215
H613P .......... $13.00 ........... 215
H614P .......... $18.00 . 199,200,217
H615P .......... $18.00 ........... 215
H616P .......... $22.00 .... 213,215
H617P .......... $12.00 ........... 215
H618 ............... $7.00 ........... 211
H619 ............... $6.00 ........... 211
H620P .......... $15.00 ........... 215
H621P .......... $20.00 ........... 215
H622 ............. $19.00 .... 214,217
H623 ............. $25.00 .... 214,217
H624 ............. $35.00 ........... 214
H625 ............. $28.00 ........... 214
H626P .......... $13.00 ........... 215
H627 ............. $45.00 ........... 210

RL PART # SUGG. LIST PAGE # RL PART # SUGG. LIST PAGE # RL PART # SUGG. LIST PAGE #

H697 ............. $10.00 ........... 218
H698P .......... $19.00 ........... 206
H699P .......... $20.00 ........... 206
H700 ............. $24.00 ........... 204
H701 ............. $16.00 ........... 193
H702 ........... $260.00 ........... 219
H703 ........... $180.00 .... 210,218
H704 ........... $350.00 ........... 219
H705 ............. $20.00 ........... 191
H706 ............. $18.00 ........... 191
H707 ............... $5.00 ........... 191
H708 ............. $20.00 ........... 191
H709 ............... $7.00 ........... 191
H710 ............... $8.00 ........... 193
H711 ............. $60.00 ........... 212
H712 ............. $76.00 ........... 212
H713 ............. $90.00 ........... 212
H714L ........... $60.00 ........... 213
H715 ........... $375.00 ........... 219
H716 ........... $525.00 ........... 219

* H718P .......... $30.00 ........... 198
* H719P .......... $28.00 ........... 198
* H720 ............... $6.00 ........... 198
* H721P .......... $35.75 ........... 198
H722P .......... $27.00 ........... 213
H834 ............... $7.00 ........... 192

* H835 ............. $15.00 ........... 197
H836 ............. $32.00 ........... 210
H837 ............. $19.00 ........... 204
H838 ............. $26.00 ........... 204
H839 ............. $60.00 ........... 205
H840P .......... $64.00 ........... 203
H841P .......... $72.00 ........... 203
H842 ............. $26.00 ........... 205
H843P .......... $75.00 ........... 203
H845 ............. $15.00 ........... 192
H846 ............. $20.00 ........... 192
H847 ............. $26.25 ........... 192
H848 ............. $55.00 ........... 214

* H849P .......... $17.00 ........... 197
* H851P .......... $38.00 ........... 196
H852P .......... $45.50 ........... 215

* H854P .......... $50.75 ........... 197
H855P .......... $65.00 ........... 211
H856P .......... $90.00 ........... 211
H857 . Reference RL Part #15256
H858P .......... $21.00 ........... 194
H859 ............. $32.00 ........... 210
H860P .......... $37.00 ........... 202
H861P .......... $37.00 ........... 202
H862 ............. $19.00 ........... 204
H863P .......... $19.00 ........... 206
H864 ............... $7.00 ........... 208
H865 ............. $10.00 ........... 208
H866 ............. $17.00 ........... 208
H867 ............. $18.00 ........... 208
H868P .......... $17.00 ........... 208
H869P .......... $21.00 ........... 208
H870 ............. $28.00 ........... 208



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 187

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

H944 ........... $145.00 ........... 210
H945 ........... $130.00 ........... 194
H2100RRP ... $48.00 ........... 223
H2101RRP ... $48.00 ........... 223
H2102RRP ... $48.00 ........... 223
H2103RRP ... $52.00 ........... 223
†H2104RRP .. $53.00 ........... 223
H2105RRP ... $70.00 ........... 223
H2106RRP ... $98.00 ........... 223
H2107RRP . $308.00 ........... 223
H2108RRP ... $47.00 ........... 223
H2109RRP ... $48.00 ........... 223
H2111RRP ... $76.00 ........... 223
H2112RRP ... $65.00 ........... 223
H2113RRP ... $56.00 ........... 223
H2116RRP ... $92.00 ........... 223
H2117RRP . $162.00 ........... 223
H2119RRP . $260.00 ........... 223
†H2121RRP .. $26.00 ........... 223
H2122RRP ... $77.00 ........... 223
H2123RRP ... $79.00 ........... 223
H2124RRP ... $52.00 ........... 224
H2125RRP ... $82.00 ........... 224
H2126RRP ... $26.00 ........... 224
H2127RRP ... $32.00 ........... 224
†H2128RRP .. $76.00 ........... 224
H2129RRP ... $82.00 ........... 224
†H2132RRP .. $74.00 ........... 224
H2134RRP . $105.00 ........... 224
H2300RR .... $156.00 ........... 224
H2301RR .... $140.00 ........... 224
H2302RR .... $130.00 ........... 224
H2303RR .... $140.00 ........... 224
H2304RR .... $200.00 ........... 224
H2305RR .... $128.00 ........... 224
H2306RR .... $126.00 ........... 224
H2307RR .... $126.00 ........... 224
H2308RR .... $126.00 ........... 224
H2309RR .... $122.00 ........... 224
H2310RR ...... $78.00 ........... 225
H2311RR ...... $80.00 ........... 225
H2312RR .... $190.00 ........... 225
H2313RR .... $293.00 ........... 225
H2316RR .... $153.00 ........... 225
H2317RR .... $156.00 ........... 225
H2318RR .... $149.00 ........... 225
H2319RR .... $166.00 ........... 225
H2320RR ...... $62.00 ........... 225
H2321RR .... $336.00 ........... 225
H2322RR ...... $90.00 ........... 225
H2323RR ...... $55.00 ........... 225
†H2324RR ..... $65.00 ........... 225
H2325RR .... $144.00 ........... 225
†H2326RR ... $150.00 ........... 225
H2328RR .... $125.00 ........... 225
H2329RR .... $124.00 ........... 225
H2500RR .... $390.00 ........... 225
H2501RR .... $718.00 ........... 226
H2502RR .... $290.00 ........... 226

Howe Price Index
By Rice Lake Part Number

H874 ............. $23.00 ........... 208
H876P ........ $108.00 ........... 211
H877P .......... $72.00 .... 207,211
H878P ........ $118.00 ........... 211

* H879 ............. $89.00 ........... 209
H880P .......... $17.00 ........... 206
H883P .......... $29.00 ........... 207
H884P .......... $24.00 ........... 207
H885P .......... $40.00 ........... 207
H886 ............. $92.00 ........... 209
H887 ............. $92.00 ........... 209
H888 ............. $86.00 ........... 209
H889 ............. $87.00 ........... 209

* H890P .......... $15.00 ........... 192
H891P .......... $15.00 ........... 192
H892P .......... $19.00 ........... 206
H893P .......... $19.00 ........... 206

* H894 ............. $75.00 ........... 205
* H898 ............. $15.00 ........... 194
H899 ............. $28.00 ........... 205
H900 ............. $17.00 ........... 204

* H901 ............. $55.00 ........... 217
* H902 ............. $59.25 ........... 217
H904P .......... $29.00 .... 199,207
H905L ......... $115.00 ........... 213
H906 ........... $148.75 ........... 212
H907 ........... $325.00 ........... 212
H909P .......... $64.00 ........... 202
H910 ........... $250.00 ........... 219
H911 ............. $64.00 ........... 202
H912P .......... $64.00 ........... 202
H913 ............. $30.50 ........... 194
H914 ........... $245.00 ........... 210
H915P .......... $64.00 ........... 203

* H916 ............... CALL ........... 220
H917 ........... $310.00 ........... 219
H918 ........... $310.00 ........... 219
H919 ............. $34.00 ........... 209
H920 ............. $36.25 ........... 220
H921 ........... $310.00 ........... 219
H922 ........... $102.00 ........... 204
H924P .......... $75.00 ........... 203
H926P .......... $75.00 ........... 203
H927P .......... $80.00 ........... 203
H928 ............. $88.00 ........... 205
H929P .......... $88.50 ........... 203
H930 ............. $65.00 ........... 204
H931 ............. $85.00 ........... 205
H932 ............. $90.00 ........... 205
H933P .......... $19.00 ........... 206
H934 ............. $30.00 ........... 209
H936 ........... $310.00 ........... 219
H937 ............. $21.00 ........... 204
†H938P ......... $64.00 ........... 202
H939P .......... $37.00 ........... 202
H940P .......... $64.00 ........... 202
H941 ............. $28.00 ........... 205
H942 ........... $210.00 ........... 210
H943 ............. $28.00 ........... 194

RL PART # SUGG. LIST PAGE # RL PART # SUGG. LIST PAGE #

H2503RR .... $290.00 ........... 226
H2504RR .... $694.00 ........... 226
H2505RRL .. $395.00 ........... 226
P701 ............. $38.00 ........... 214
P702 ............. $37.00 ........... 214
TH927 ............. $7.00 ........... 218

RL PART # SUGG. LIST PAGE #



Individual Howe Scale Parts

188 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Howe Cross Reference
By Equivalent Howe Number

40800815 ....... H699P ........... 206
40800890 ....... H633 ............. 220
40800899 ....... H694P .... 201,207
40801070 ....... H610P ........... 215
40801076 ....... H615P ........... 215
40801077 ....... H617P ........... 215
40801080 ....... H626P ........... 215
40801081 ....... H612P ........... 215
40801090 ....... H611P ........... 215
40801092 ....... H613P ........... 215
40801126 ....... H621P ........... 215
40801131 ....... H614P . 199,200,215
40801137 ....... H856P ........... 211
40801166 ....... H632 ............. 220
40801198 ....... H945 ............. 194
40801203 ....... H855P ........... 211
40801214 ....... H657P . 199,200,215
40801225 ....... H877P .... 207,211
40801235 ....... H637 ............. 220
40801248 ....... H656P . 199,200,215
40802085 ....... H616P .... 213,215
40802257 ....... H904P .... 199,207
40802591 ....... H660P .... 199,207
40802594 ....... H917 ............. 219
40802636 ....... H702 ............. 219
40802637 ....... H704 ............. 219
40802638 ....... H703 ...... 210,218
40802643 ....... H921 ............. 219
40802644 ....... H918 ............. 219
40802653 ....... H715 ............. 219
40802654 ....... H936 ............. 219
40802656 ....... H716 ............. 219
40803528 ....... H942 ............. 210
40803860 ....... H655P ........... 215
40803894 ....... H691 ............. 214
40804110 ....... H2129RRP .... 224
40804124 ....... H692P .... 201,215
40804934 ....... H885P ........... 207
40805312 ....... H620P ........... 215
40805802 ....... H883P ........... 207
40805916 ....... H624 ............. 214
40805921 ....... H669PSS ...... 196
40805922 ....... H625 ............. 214
40805933 ....... H2100RRP .... 223
40806245 ....... H2104RRP .... 223
40806361 ....... H884P ........... 207
40806632 ....... 22145 ............ 193
40806973 ....... H654 ............. 198
40807000 ....... H848 ............. 214
40807048 ....... H852P ........... 215
40807054 ....... H891P ........... 192
40807082 ....... 10407 ............ 190
40807092 ....... 10405 ............ 190
40807830 ....... H685P ........... 207
40807832 ....... H686P ........... 207
40808230 ....... H2116RRP .... 223
40808251 ....... H2132RRP .... 224
40808259 ....... H2105RRP .... 223

40808260 ....... H2119RRP .... 223
40808408 ....... H2127RRP .... 224
40809026 ....... H2126RRP .... 224
40810545 ....... 10387 ............ 190
40810546 ....... 10389 ............ 190
40814207 ....... H2306RR ...... 224
40814330 ....... H944 ............. 210
40816580 ....... H690 ............. 201
40816724 ....... H2319RR ...... 225
40816725 ....... H2318RR ...... 225
40820608 ....... H2301RR ...... 224
40820611 ....... H2307RR ...... 224
41019415 ....... H628 ............. 217
41036433 ....... H607 ... 199,200,217
41039539 ....... H2320RR ...... 225
41042196 ....... H943 ............. 194
41043253 ....... H866 ............. 208
41043254 ....... H867 ............. 208
41043686 ....... H869P ........... 208
41043687 ....... H868P ........... 208
42034246 ....... H646P ........... 193
42034660 ....... H649 ............. 197
42034891 ....... H627 ............. 210
42035173 ....... H630 ............. 216
42035211 ....... H619 ............. 211
42035848 ....... H648 ..... 194,199,

200,218
42040429 ....... H693 ...... 201,211
42043855 ....... H602 ............. 216
42043862 ....... H618 ............. 211
42043937 ....... H603 ............. 216
42043938 ....... H606 ............. 216
42043939 ....... H605 ............. 216
42043940 ....... H604 ............. 216
42044397 ....... H608 ............. 217
42044398 ....... H609 ............. 217
42052705 ....... H601 ............. 216
42053568 ....... H835 ............. 197
42054290 ....... H661 ...... 199,200
42060713 ....... H678 ............. 198
42060825 ....... H653P ........... 196
42061321 ....... H629 ............. 217
42061650 ....... H2303RR ...... 224
42066333 ....... H858P ........... 194
42066617 ....... H651P ........... 196
42071831 ....... 10367 ............ 190
42076188 ....... 10369 ............ 190
42076189 ....... 10371 ............ 190
42076190 ....... 10373 ............ 190
42078947 ....... 10385 ............ 190
42080080 ....... H865 ............. 208
42086507 ....... 10431 ............ 193
42091698 ....... H663 ............. 199
42092656 ....... H898 ............. 194
42092817 ....... H683P ........... 196
42092818 ....... H682 ............. 195
42094659 ....... 33649 ............ 218
42095126 ....... H662 ............. 199

EQUIV.
HOWE # RL PART # PAGE #

EQUIV.
HOWE # RL PART # PAGE #

3529-3801...... H937 ............. 204
3790-3801...... H838 ............. 204
3847-3801...... H700 ............. 204
3849-3801...... H837 ............. 204
4300-3801...... H842 ............. 205
4857 ............... H914 ............. 210
5313-3801...... H894 ............. 205
5316 ............... H942 ............. 210
9835-3801...... H675 ............. 204
13790 ............. H944 ............. 210
18234 ............. H944 ............. 210
20301 ............. H627 ............. 210
20790 ............. 22143 ............ 210
20988-3801.... H839 ............. 205
22599-3801.... H899 ............. 205
25204-3801.... H929P ........... 203
25214-3801.... H841P ........... 203
25216-3801.... H927P ........... 203
25217-3801.... H926P ........... 203
25221-3801.... H932 ............. 205
25572-3801.... H941 ............. 205
26068-3801.... H861P ........... 202
26942-3801.... H840P ........... 203
26943-3801.... H924P ........... 203
26959-3801.... H938P ........... 202
26967-3801.... H909P ........... 202
26968-3801.... H911P ........... 202
27006-3801.... H650P ........... 202
27007-3801.... H939P ........... 202
27008-3801.... H940P ........... 202
29162-3801.... H930 ............. 204
29163-3801.... H931 ............. 205
29224-3801.... H928 ............. 205
34609-3801.... H915P ........... 203
45768-3801.... H700 ............. 204
46066-3801.... H860P ........... 202
46067-3801.... H912P ........... 202
46394-3801.... H862 ............. 204
49249-3801.... H900 ............. 204
50535-4601.... H863P ........... 206
600097-01...... H922 ............. 204
10902998 ....... 15256 ............ 220
10904911 ....... H677 ............. 194
10905464 ....... H677 ............. 194
20808295 ....... H688 ............. 195
20900076 ....... H689 ............. 195
20905682 ....... 15301 ............ 220
20906027 ....... 15290 ..... 199,220
20906224 ....... 15263 ............ 220
22035255 ....... H680L ........... 195
22111450 ....... H707 ............. 191
40800155 ....... H893P ........... 206
40800156 ....... H684P ........... 206
40800295 ....... H698P ........... 206
40800366 ....... H880P ........... 206
40800367 ....... H933P ........... 206
40800501 ....... H892P ........... 206
40800633 ....... H658P .... 199,206

EQUIV.
HOWE # RL PART # PAGE #



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 189

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

42097659 ....... H659P .... 199,200
42102167 ....... H874 ............. 208
42102187 ....... H934 ............. 208
42102378 ....... H913 ............. 194
42102471 ....... H644 ............. 218
42102594 ....... H917 ............. 219
42103226 ....... H713 ............. 212
42103227 ....... H712 ............. 212
42103228 ....... H711 ............. 212
42103281 ....... H623 ...... 214,217
42103282 ....... H622 ...... 214,217
42103716 ....... H645 ............. 214
42106392 ....... H681 ............. 195
42106396 ....... H679P ........... 196
42106554 ....... H669P ........... 196
42106791 ....... H870 ............. 208
42108126 ....... H720 ............. 198
42108127 ....... H718P ........... 198
42108333 ....... H719P ........... 198
42109311 ....... H721P ........... 198
42111013 ....... H906 ............. 212
42111183 ....... H695 ............. 201
42111184 ....... H696 ............. 201
42111417 ....... 10409 ............ 190
42111422 ....... H709 ............. 190
42111454 ....... 10404 ............ 190
42111512 ....... H890P ........... 192
42111567 ....... 10391 ............ 190
42114397 ....... H2502RR ...... 226
42114517 ....... H2316RR ...... 225
42114518 ....... H2317RR ...... 225
42120488 ....... H687P ........... 196
42124538 ....... H854P ........... 197
42126334 ....... H919 ............. 209
42128770 ....... H2308RR ...... 224
42138860 ....... H647 ............. 216
42146338 ....... H902 ............. 217
42146392 ....... H901 ............. 217
43019339 ....... H2305RR ...... 224
43066321 ....... H676 ............. 193
43078106 ....... H668 ............. 210
43111500 ....... H845 ............. 192
43111510 ....... H847 ............. 192
43111511 ....... H846 ............. 192
43124297 ....... H715 ............. 219
43126598 ....... H716 ............. 219
44019193 ....... H2300RR ...... 224
44035270 ....... H849P ........... 197
44043774 ....... H702 ............. 219
44043783 ....... H703 ...... 210,218
44043915 ....... H921 ............. 219
44043916 ....... H918 ............. 219
44052704 ....... H715 ............. 219
44052706 ....... H716 ............. 219
44052711 ....... H936 ............. 219
44096673 ....... H917 ............. 219
45043779 ....... H704 ............. 219
52069557 ....... H701 ............. 193

60800023 ....... H889 ............. 209
60800182 ....... H887 ............. 209
60800854 ....... 10380 ............ 190
60800855 ....... 10380 ............ 190
60800969 ....... H879 ............. 209
60801150 ....... H886 ............. 209
60801200 ....... H945 ............. 194
60811302 ....... H888 ............. 209
60816859 ....... H2125RRP .... 224
62066639 ....... H834 ............. 192
62088963 ....... H702 ............. 219
62090922 ....... H715 ............. 219
62090970 ....... H936 ............. 219
62090971 ....... H716 ............. 219
62093965 ....... H704 ............. 219
62093971 ....... H921 ............. 219
62098973 ....... H918 ............. 219
62102165 ....... H875 ............. 209
62103221 ....... H714L ........... 213
62103235 ....... H910 ............. 219
62104416 ....... H917 ............. 219
62111015 ....... H907 ............. 212
62111017 ....... H905L ........... 213
62111462 ....... H708 ............. 191
62111464 ....... H705 ............. 191
62111465 ....... H706 ............. 191
62121944 ....... H2501RR ...... 226
62124298 ....... H715 ............. 219
62126599 ....... H716 ............. 219
DF NO.  1 ....... H668 ............. 210
DF NO.  2 ....... H627 ............. 210
DF NO.  3 ....... H836 ............. 210
DF NO.  4 ....... H859 ............. 210
J19415 ........... H628 ............. 217
J37141 ........... H836 ............. 210
K103229-2 3/4 H2323RR ...... 225
K103229-3 7/8 H2324RR ...... 225
K103229-5 ..... H2322RR ...... 225
K114407 ......... H2500RR ...... 225
K34891 ........... H627 ............. 210
L78106 ........... H668 ............. 210
NC43774 ........ H702 ............. 219
NC43783 ........ H703 ...... 210,218
NC43915 ........ H921 ............. 219
NC43916 ........ H918 ............. 218
NC52711 ........ H936 ............. 218
NC96673 ........ H917 ............. 218
PC43779 ........ H704 ............. 218
PC52704 ........ H715 ............. 218

Howe Cross Reference
By Equivalent Howe Number

EQUIV.
HOWE # RL PART # PAGE #

EQUIV.
HOWE # RL PART # PAGE #



Individual Howe Scale Parts

190 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

ROUND, SLOTTED
COUNTERPOISE WEIGHTS

3" DIA

ROUND, SLOTTED
COUNTERPOISE WEIGHTS

ROUND, SLOTTED
COUNTERPOISE WEIGHTS

3" DIA

Counterpoise Weights and Hangers for Howe 57, 54 XL and Triner

RL PART # DESCRIPTION SUGG. LIST

10367 EQUIV. HOWE NO.  42071831 $12.00
SIZE:  50 x 1/2 LB

10369 EQUIV. HOWE NO.  42076188 $13.00
SIZE:  100 x 1 LB

10371 EQUIV. HOWE NO.  42076189 $14.00
SIZE:  200 x 2 LB

10373 EQUIV. HOWE NO.  42076190 $17.00
SIZE:  300 x 3 LB

10385 EQUIV. HOWE NO.  42078947 $22.00
SIZE:  500 x 5 LB

10409 EQUIV. HOWE NO. 42111417 $23.00
SIZE:  100 x 1 9/16 LB

10407 EQUIV. HOWE NO.  40807082 $23.00
SIZE:  50 x 25/32 LB

10405 EQUIV. HOWE NO.  40807092 $23.00
SIZE:  25 x 25/64 LB

10404 EQUIV. HOWE NO.  42111454 $23.00
SIZE:  10 x 5/32 LB

For Counting Scales:

10387 EQUIV. HOWE NO.  40810545 $14.00
SIZE:  100 x 1 1/99 LB

10389 EQUIV. HOWE NO.  40810546 $14.00
SIZE:  200 x 2 2/99 LB

10391 EQUIV. HOWE NO.  42111567 $22.00
SIZE:  500 x 5 5/99 LB

Counterpoise Hangers For Above Weights:

10381 EQUIV. HOWE NO.  60800854,  60800855 $26.00
HANGER, 16 OZ

10380 EQUIV. HOWE NO.  60800854, 60800855 $26.00
HANGER, 12 OZ

10379 EQUIV. HOWE NO.  60800854, 60800855 $26.00
HANGER, 10 OZ

10382 EQUIV. HOWE NO.  60800854, 60800855 $26.00
HANGER, 7 OZ

FOR XL & APACHE, ORDER 7 OZ, 10 OZ OR 12 OZ
FOR 54 & 57, ORDER 16 OZ
HANGER ROD, 8 3/16" L



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 191

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Bench Scale and Portable X-Actron 54 XL2, 5400, 5401, 5402, 6400, 6401, 6402,
XL Models: 54XL1, 5401, 5402 and Apache Triner Models: 2100, 2200

RL PART # DESCRIPTION SUGG. LIST

H705 EQUIV. HOWE NO.  62111464 $20.00
SIZE:  3/16" THICK, 2 1/8" W, 4 3/4" L
HANGER ASSEMBLY

H706 EQUIV. HOWE NO.  62111465 $18.00
SIZE:  3/16" THICK, 2 1/8" W, 2 7/8" L
HANGER ASSEMBLY SHORT

H707 EQUIV. HOWE NO.  22111450 $5.00
SIZE:  5/16" DIA x 1/4" L
HANGER CLIP

H708 EQUIV. HOWE NO.  62111462 $20.00
SIZE:  3/16" THICK, 2 1/8" W, 3 1/2 L
SUMMATING HANGER ASSEMBLY

H709 EQUIV. HOWE NO.  42111422 $7.00
SIZE:  3/16" THICK, 3/4" W, 1 5/16" L
BEARING, LOAD AND ALL LOOPS

H670P EQUIV. HOWE NO.  N/A $10.00
SIZE:  5/16" SQ x 1 5/8" L
PIVOT, LOAD, FULCRUM,
NOSE, CONNECTING



Individual Howe Scale Parts

192 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Bench Scale and Portable X-Actron  54 XL2, 5400, 5401, 5402, 6400, 6401, 6402,
XL Models:  54XL1, 5401, 5402 & Apache, Triner Models: 2100, 2200 (Cont.)

RL PART # DESCRIPTION SUGG. LIST

H834 EQUIV. HOWE NO.  62066639 $7.00
SIZE:  1" W, 1 3/4" H
LOOP, TIP BEAM

H845 EQUIV. HOWE NO.  43111500 $15.00
SIZE: 3/16" x 1 1/8" x 3 1/8"
HOLE SIZE:  5/8"
NOSE IRON HOOK

H846 EQUIV. HOWE NO.  43111511 $20.00
SIZE:  3/16" x 1 3/4" x 3 1/4"
HOLE SIZE:  3/8"
BEAM FULCRUM HOOK

H847 EQUIV. HOWE NO.  43111510 $26.25
SIZE:  3/16" x 1 3/4" x 3 1/8"
HOLE SIZE:  5/8"
BEAM  LOAD HOOK

* H890P EQUIV. HOWE NO.  42111512 $15.00
SIZE:  .330" x 1.265"
PIVOT, BEAM, TIP

H891P EQUIV. HOWE NO.  40807054 $15.00
SIZE:  .330" x 1.735"
PIVOT, BEAM LOAD AND FULCRUM



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 193

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Portable Beam Scale Models 54 & 57  Hobart No. 57

RL PART # DESCRIPTION SUGG. LIST

H701 EQUIV. HOWE NO.  52069557 $16.00
SIZE:  3/16" THICK
1 13/16" L INSIDE
LOOP ASSEMBLY
USED IN PLACE OF 52069559

H710 EQUIV. HOWE NO.  N/A $8.00
SIZE:  3/16" THICK
1 1/4" W, 1 5/8" L
LOOP BEARING ONLY

H646P EQUIV. HOWE NO.  42034246 $17.00
SIZE  9/16" SQ x 2 1/2" L
1 1/4" LONG PIVOT EDGE
TAPERED SHANK
FULCRUM AND LOAD PIVOT

H676 EQUIV. HOWE NO.  43066321 $17.00
SIZE:  5/32" x 11/16" x 2 1/16" L
BEARING, LOAD
W/PIN & COTTER FOR STYLE 57 ONLY

22145 EQUIV. HOWE NO. 40806632 $21.00
SIZE:  1 3/8" x 1" x 1 5/8"
POISE TOP

10431 EQUIV. HOWE NO.  42086507 $75.00
SIZE:  2 1/8" DIA. x 1 7/16"
POISE BOTTOM



Individual Howe Scale Parts

194 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Portable Beam Scale Models 54 & 57  Hobart No.  57

RL PART # DESCRIPTION SUGG. LIST

H677 EQUIV. HOWE NO.  10904911, 10905464 $6.00
SIZE:  5/16" x 2" L
PIN FOR CORNER LOOP AND BEARING
WITH CLIP

H858P EQUIV. HOWE NO.  42066333 $21.00
SIZE:  5/16" x 5/16" x 2 3/4" L
CENTER CONNECTION PIVOT

H913 EQUIV. HOWE NO.  42102378 $30.50
SIZE:  1 1/8" x 5/8" x 1 1/16"
BEARING, FOR SPIDER
WITH HOLE

H943 EQUIV. HOWE NO.  41042196 $28.00
SIZE:  1 1/16" x 9/16" x 1 1/4"
BEARING, FOR LOOP

H648 EQUIV. HOWE NO.  42035848 $9.00
SIZE:  1 5/16" DIA
BALL

* H898 EQUIV. HOWE NO.  42092656 $15.00
SIZE:  1/2" x 1/2" x 1/2"
BEARING, FULCRUM
MODELS:  54, 57 & 54XL
WITH FULL CAPACITY BEAM

H945 EQUIV. HOWE NO.  40801198, 60801200 $130.00
SIZE: 2 1/2" x 3 1/2" BASE x 5 1/8" TALL
STAND, BEAM, FULCRUM WITH
FRICTIONS AND BEARING



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 195

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Links and Bearings

RL PART # DESCRIPTION SUGG. LIST

H680L EQUIV. HOWE NO.  22035255 $12.00
SIZE:  5/16" x 2 1/4" L
USED IN UNITED PORTABLE & BENCH
SCALES:  26" x 32" and 32" x 32"
LINK

H681 EQUIV. HOWE NO.  42106392 $37.50
SIZE:  3/4" x 3/4" x 11/16"
HOLE FOR 1/4" PIN
USED IN UNITED BENCH AND PORTABLE
SCALES: 22" x 32" and 32" x 32"

* H682 EQUIV. HOWE NO.  42092818 $39.00
SIZE:  3/4" x 5/8" x 19/32"
HOLE FOR 3/16" PIN
USED IN UNITED BENCH AND PORTABLE
SCALES:  22" x 32" and 32" x 32"

* H671 EQUIV. HOWE NO.  N/A $28.00
SIZE:  1 7/32" x 1 1/8" x 1 1/4" L
HOLE SIZE:  3/8"
BEARING

* H688 EQUIV. HOWE NO.  20808295 $32.25
SIZE:  7/8" x 7/8" x 1"
HOLE SIZE:  21/64"
10-24 HOLE TAPPED
BEARING

H689 EQUIV. HOWE NO.  20900076 $24.00
SIZE:  WIDTH  .315" (8mm)
OUTSIDE DIA 1.102" (28mm)
INSIDE DIA .470" (12mm)
BALL BEARING



Individual Howe Scale Parts

196 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Pivots

RL PART # DESCRIPTION SUGG. LIST

H679P EQUIV. HOWE NO.  42106396 $25.50
SIZE:  3/8" x 1 7/8" L
USED IN UNITED PORTABLE BENCH SCALES
CENTER CONNECTION:  26" x 32" and 32" x 32"

* H651P EQUIV. HOWE NO.  42066617 $41.00
SIZE:  3/8" x 2" L
MODEL:  5600
18" x 20" PLATFORM

H669P EQUIV. HOWE NO.  42106554 $24.50
H669PSS EQUIV. HOWE NO.  40805921, STAINLESS $50.75

SIZE:  9/16" x 2 11/16" L
SHANK SIZE:  1/2" TAPERED
MODELS:  5800, 5600 DIALS

* H851P EQUIV. HOWE NO.  N/A $38.00
SIZE:  3/4" x 3" L
SHANK SIZE:  3/4" TAPERED

* H653P EQUIV. HOWE NO.  42060825 $19.00
SIZE:  7/32" x 15/32" x 1 3/4" L
FOR BENCH DIAL, MODEL: 5600
18" x 20" PLATFORM

H683P EQUIV. HOWE NO.  42092817 $35.00
SIZE:  5/8" DIA, 4 1/4" L
FLAT BOTTOM
MODELS:  5600, 5700, ETC.

* H687P EQUIV. HOWE NO.  42120488 $33.50
SIZE:  7/16" x 1 1/8" x 6 1/2" L
10-14 TAPPED HOLES



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 197

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Pivots and Bearings

RL PART # DESCRIPTION SUGG. LIST

* H849P EQUIV. HOWE NO.  44035270 $17.00
SIZE:  1/2" DIA x 1 1/8" L
USED IN PORTABLE DIALS
PIVOT, CONE 5700

* H649 EQUIV. HOWE NO.  42034660 $15.00
SIZE:  1/2"  x 5/16" x 5/8"
BEARING, BATCHING DIAL LINK

* H835 EQUIV. HOWE NO.  42053568 $15.00
SIZE:  7/16" x 1/2" x 5/8" L
HOLE SIZE:  13/64"
BEARING
FULCRUM AND STAND ASSEMBLY
MODEL 57

* H854P EQUIV. HOWE NO.  42124538 $50.75
SIZE:  1" DIA x 3 1/2" L
WITH KEYWAY
PIVOT EDGE:  1 1/4"
PIVOT, DORMANT LOAD



Individual Howe Scale Parts

198 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Model 5600, 22" x 22" Portable Dial Scale

RL PART # DESCRIPTION SUGG. LIST

* H718P EQUIV. HOWE NO.  42108127 $30.00
SIZE:  3/8" x 3/4" x 2 3/4"
PIVOT EDGE:  1/2"
PIVOT

* H719P EQUIV. HOWE NO.  42108333 $28.00
SIZE:  1/2" x 2"
PIVOT EDGE:  1 1/8"
PIVOT

* H720 EQUIV. HOWE NO.  42108126 $6.00
SIZE:  5/16" x 1 1/2"
PIN

* H721P EQUIV. HOWE NO.  42109311 $35.75
SIZE:  5/8" DIA x 4 11/16"
PIVOT

H654 EQUIV. HOWE NO.  40806973 $22.00
SIZE:  1" DIA
BEARING, BENCH DIALS

* H678 EQUIV. HOWE NO.  42060713 $24.00
SIZE:  5/8" x 9/16" x 15/16"
HOLE FOR 3/16" PIN
2 TAPPED HOLES 10-24
BEARING



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 199

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Self-Contained Floor Scale, (Dormant) All Metal Box Type,
Models 100 to 104 and Skeleton Frame Type, Models 105 to 109

RL PART # QTY DESCRIPTION SUGG. LIST

H656P 2 EQUIV. HOWE NO.  40801248 $15.00
SIZE:  1/2" x 1 1/8" x 1 3/32"
TAPERED ON ONE END

H614P 4 EQUIV. HOWE NO.  40801131 $18.00
SIZE:  1/2" x 1 1/8" x 2"
TAPERED ON BOTH ENDS

H658P 1 EQUIV. HOWE NO.  40800633 $19.00
SIZE:  A. 1/2" x  B. 45/64" x 2 1/2"

H657P 1 EQUIV. HOWE NO.  40801214 $38.00
SIZE:  A. 37/64" x  B. 49/64" x 5 1/16"

H660P 4 EQUIV. HOWE NO.  40802591 $32.00
SIZE:  A. 49/64" x  B. 1 1/32" x 3 1/2"

H904P 4 EQUIV. HOWE NO.  40802257 $29.00
SIZE:  A.  49/64" x  B. 1 1/32" x 4 1/2"

H659P 2 EQUIV. HOWE NO.  42097659 $44.50
SIZE:  3/4" x 3 1/2"

H607 10 EQUIV. HOWE NO.  41036433 $15.00
SIZE:  1/2" x 1 1/8" x 1"
HOLE:  25/64"

15290 10 EQUIV. HOWE NO.  20906027 $2.00
SIZE:  3/8" x 1 1/2"
ROLL PIN (8 LOAD & 2 FULCRUM TRANS STAND)

H662 2 EQUIV. HOWE NO.  42095126 $25.00
SIZE:  5/8" x 5/8" x 1 9/16"

H663 2 EQUIV. HOWE NO.  42091698 $22.50
SIZE:  1" x 3/4" x 1 5/8"
HOLE:  21/64"

H661 4 EQUIV. HOWE NO.  42054290 $28.00
SIZE:  1 1/2" DIA

H648 8 EQUIV. HOWE NO.  42035848 $9.00
SIZE:  1 5/16" DIA
BALL:  STEEL

ORDER KIT NO.  H-665-K



Individual Howe Scale Parts

200 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Self- Contained Floor Scale, (Dormant) Old Style Models TC 1,2

RL PART # QTY DESCRIPTION SUGG. LIST

H656P 2 EQUIV. HOWE NO.  40801248 $15.00
SIZE:  1/2" x 1 1/8" x 1 3/32"
TAPERED ON ONE END
PIVOT

H614P 4 EQUIV. HOWE NO.  40801131 $18.00
SIZE:  1/2" x 1 1/8" x 2"
TAPERED ON BOTH ENDS
PIVOT

* H672P 1 EQUIV. HOWE NO.  N/A $25.00
SIZE:  A. 1/2" x B. 45/64" x 3 1/4"
PIVOT

H657P 1 EQUIV. HOWE NO.  40801214 $38.00
SIZE:  A. 37/64" x B. 49/64" x 5 1/16"
PIVOT

H673P 4 EQUIV. HOWE NO.  N/A $30.00
SIZE:  A. 49/64" x B. 1 1/32" x 4"
PIVOT

H659P 2 EQUIV. HOWE NO.  42097659 $44.50
SIZE:  3/4" x 3 1/2"
PIVOT

H607 14 EQUIV. HOWE NO.  41036433 $15.00
SIZE:  1/2" x 1 1/8" x 1"
HOLE:  3/8"
BEARING

H661 4 EQUIV. HOWE NO.  42054290 $28.00
SIZE:  1 1/2" DIA
BEARING

H648 8 EQUIV. HOWE NO.  42035848 $9.00
SIZE:  1 5/16" DIA
BALL

* H671 2 EQUIV. HOWE NO. N/A $28.00
SIZE:  1 7/32" x 1 1/8" x 1 1/4"
HOLE SIZE:  3/8"
BEARING

ORDER KIT NO.  H-666-K



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 201

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Platform Size:  4' x 6' 1973 Model, Serial # 7312952, Model 2829-01034

RL PART # DESCRIPTION SUGG. LIST

H692P EQUIV. HOWE NO.  40804124 $15.00
SIZE:  1/2" x 1 1/8" x 1 3/16"
TAPERED ON BOTH ENDS

H694P EQUIV. HOWE NO.  40800899 $27.00
SIZE:  37/64" x 49/64" x 2 1/2"

* H695 EQUIV. HOWE NO.  42111183 $36.00
SIZE:  1/2" x 1 1/8" x 1 1/4"
1/4-20 TAPPED HOLE EACH END

H696 EQUIV. HOWE NO.  42111184 $32.00
SIZE:  1/2" x 1 1/8" x 1 1/4"

H693 EQUIV. HOWE NO.  42040429 $11.25
SIZE:  1 1/4" DIA
HOLE SIZE:  17/64"

14884 SCREW 1/4 - 20 x  5/16 $0.50

H690 EQUIV. HOWE NO.  40816580 $26.00
SIZE:  1/2" x 1/2" x 4"
HOLE SIZE:  3/16"
1 1/2" FROM ONE END



Individual Howe Scale Parts

202 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Pivots for Automatic Bulk and Bagging Scales

RL PART # DESCRIPTION SUGG. LIST

H650P EQUIV. HOWE NO.  27006-3801 $33.00
SIZE: A.  3/4" HEX B.  2"

C.  1 1/32" D.  15/16"
E.  7/16" DIA

BAGGING SCALE, G17

H939P EQUIV. HOWE NO.  27007-3801 $37.00
SIZE: A.  3/4"  HEX B.  2 3/32"

C.  1 1/16" D.  1 1/32"
E.  7/16" DIA

STRAIGHT END, FF 4 PIECE

H860P EQUIV. HOWE NO.  46066-3801 $37.00
SIZE: A.  3/4" HEX B.  2 3/16"

C.  1" D.  1 3/16"
E.  3/8" DIA

5° END
BAGGING SCALE, E-50

H861P EQUIV. HOWE NO.  26068-3801 $37.00
SIZE: A.  3/4" HEX B.  2 3/16"

C.  1" D.  1 3/16"
E.  3/8" DIA

STRAIGHT END

H909P EQUIV. HOWE NO.  26967-3801 $64.00
SIZE: A.  1" HEX B.  2 9/32"

C.  1 1/32" D.  1 1/4"
E.  1/2" DIA

5° END, G-38

*H938P EQUIV. HOWE NO.  26959-3801 $64.00
SIZE: A.  1" HEX B.  2 11/32"

C.  1 1/4" D.  1 3/32"
E.  1/2" DIA

STRAIGHT END

H911 EQUIV. HOWE NO.  26968-3801 $64.00
SIZE: A.  1" HEX B.  2 1/2"

C.  1 1/4" D.  1 1/4"
E.  1/2" DIA

STRAIGHT END
SCALE F-50, G-38

H912P EQUIV. HOWE NO.  46067-3801 $64.00
SIZE: A.  1" HEX B.  2 9/16"

C.  1 1/4" D.  1 5/16"
E.  1/2" DIA

5° ENDS, F-50

H940P EQUIV. HOWE NO. 27008-3801 $64.00
SIZE: A.  1" HEX B.  2 3/4"

C.  1 1/4" D. 1 1/2"
E.  1/2" DIA

STRAIGHT END, FF 2 PIECE



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 203

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Pivots and Bearings for Automatic Bulk and Bagging Scales

RL PART # DESCRIPTION SUGG. LIST

H840P EQUIV. HOWE NO.  26942-3801 $64.00
SIZE: A.  1" HEX B.  2 15/16"

C.  1 7/16" D.  1 1/2"
E.  5/8" DIA

STRAIGHT END
JJ, G 38

H915P EQUIV. HOWE NO.  34609-3801 $64.00
SIZE: A.  1" HEX B.  2 15/16"

C.  1 1/4" D.  1 11/16"
E.  5/8" DIA

STRAIGHT END
J-39

H924P EQUIV. HOWE NO.  26943-3801 $75.00
SIZE: A.  1 1/2" HEX B.  3 9/32"

C.  1 5/8" D.  1 21/32"
E.  3/4" DIA

STRAIGHT END
JJ

H843P EQUIV.  HOWE NO.  N/A $75.00
SIZE: A.  1 1/2" HEX B.  3 9/32"

C.  1 5/8" D.  1 5/8"
E.  3/4" DIA

STRAIGHT END

H926P EQUIV. HOWE NO. 025217-3801 $75.00
SIZE: A.  1 1/2" HEX B.  3 5/8"

C.  1 13/16" D.  1 13/16"
E.  3/4" DIA

STRAIGHT END

H929P EQUIV. HOWE NO. 025204-3801 $88.50
SIZE: A.  1 1/2" HEX B.  4 1/2"

C.  1 15/16" D.  2 17/32"
E.  7/8" DIA

STRAIGHT END

H841P EQUIV. HOWE NO.  25214-3801 $72.00
SIZE: A.  1" HEX B.  3 5/16"

C.  1 1/2" D.  1 13/16"
E.  5/8" DIA

JJ, MM & MMM

H927P EQUIV. HOWE NO.  25216-3801 $80.00
SIZE: A.  1 1/2" HEX B.  4"

C.  1 7/8" D.  2 3/16"
E.  3/4" DIA



Individual Howe Scale Parts

204 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Bearings for Automatic Bulk and Bagging Scales

RL PART # DESCRIPTION SUGG. LIST

H900 EQUIV. HOWE NO.  49249-3801 $17.00
SIZE:  1/2" x 1/2" x 1/2"
HOLE SIZE:  3/16"

H675 EQUIV. HOWE NO.  9835-3801 $17.00
SIZE:  1 1/8" x 1" x 5/8"
HOLE SIZE:  1/4" DIA
BAGGING SCALE, G-17

H837 EQUIV. HOWE NO.  3849-3801 $19.00
SIZE:  1 1/8" x 1" x 3/4"
HOLE SIZE:  1/4" DIA
SCALE, EE39 & FFFP

H862 EQUIV. HOWE NO.  46394-3801 $19.00
SIZE:  1 1/8" x 1" x 3/4"
HOLE SIZE:  3/8" DIA
BAGGING SCALE, E 50 (NEW STYLE)

H937 EQUIV. HOWE NO.  3529-3801 $21.00
SIZE:  1 1/8" x 1" x 7/8"
HOLE SIZE:
G-38

H700 EQUIV. HOWE NO.  3847-3801, 45768-3801 $24.00
SIZE:  1 1/8"  x 1" x 1"
HOLE SIZE:  3/8" DIA
GG38 & GGG38 & F50

H838 EQUIV. HOWE NO.  3790-3801 $26.00
SIZE:  1 1/8" x 1" x 1 1/4"
HOLE SIZE:  25/64"
COAL SCALE, H-39
JJ

H930 EQUIV. HOWE NO.  29162-3801 $65.00
SIZE:  1 1/2" x 2" x 1 1/2"
HOLE SIZE:  21/32"
MM, MMM

H922 EQUIV. HOWE NO.  600097-01 $102.00
SIZE:  1 1/8" x 1" x 1 1/4" BEARING
HOLE SIZE:  3/8" DIA HOLE
WITH POINTER
JJ



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 205

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Bearings for Automatic Bulk and Bagging Scales

RL PART# DESCRIPTION SUGG. LIST

* H894 EQUIV. HOWE NO.  5313-3801 $75.00
SIZE:  1 1/8" x 2" x 1 1/4"
HOLE SIZE:  3/8"
JJ SCALES

H931 EQUIV. HOWE NO.  29163-3801 $85.00
SIZE:  1 1/2" x 2 5/8" x 1 1/2"
HOLE SIZE:  1/2"
MM & MMM SCALES

H839 EQUIV. HOWE NO.  20988-3801 $60.00
SIZE:  1 1/8" x 1" x 2 1/2"
HOLE SIZE:  3/8"
JJ  SCALES

H928 EQUIV. HOWE NO.  29224-3801 $88.00
SIZE:  1 1/2" x 2" x 2 3/4"
HOLE SIZE:  21/32"
MM & MMM SCALES

H842 EQUIV. HOWE NO.  4300-3801 $26.00
SIZE:  1 1/8" x 1" x 1 3/8"
HOLE SIZE:  3/8"
JJ & HHH 38 SCALES

H932 EQUIV. HOWE NO.  25221-3801 $90.00
SIZE:  2" x 2" x 2 5/16"
HOLE SIZE:  21/36"
MM & MMM SCALES

H899 EQUIV. HOWE NO. 022599-3801 $28.00
SIZE:  5/8" x 1 1/8" x 1 1/4"
HOLE SIZE:  5/16"
GGG38

H941 EQUIV. HOWE NO.  25572-3801 $28.00
SIZE:  5/8" x 1" x 1"
HOLE SIZE:  5/16"
F & FPT, FF 2 PIECE



Individual Howe Scale Parts

206 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

C

Tear Drop Pivots

RL PART # DESCRIPTION SUGG. LIST

H880P EQUIV. HOWE NO.  40800366 $17.00
SIZE: A.  1/4" OR .250"

B.  23/64" OR .359"
C.  1 1/4"

H933P EQUIV. HOWE NO.  40800367 $19.00
SIZE: A.  11/32" OR .343"

B.  1/2" OR .508"
C.  1 7/8"

H893P EQUIV. HOWE NO.  40800155 $19.00
SIZE: A.  19/64" OR .296"

B.  7/16" OR .437"
C.  2"

H684P EQUIV. HOWE NO.  40800156 $20.00
SIZE: A.  19/64" OR .296"

B.  7/16" OR .437"
C.  2  15/16"

H892P EQUIV. HOWE NO.  40800501 $19.00
SIZE: A.  11/32" OR .343"

B.  1/2" OR .500"
C.  1 7/8"

H698P EQUIV. HOWE NO.  40800295 $19.00
SIZE: A.  11/32" OR .343"

B.  1/2" OR .500"
C.  2"

H699P EQUIV. HOWE NO.  40800815 $20.00
SIZE: A.  11/32" OR .343"

B.  1/2" OR .500"
C.  2 1/4"

H863P EQUIV. HOWE NO.  50535-4601 $19.00
SIZE: A.  25/64" OR .390"

B.  1/2" OR .500"
C.  1 7/8"

H658P EQUIV. HOWE NO.  40800633 $19.00
SIZE: A.  1/2" OR .500"

B.  45/64" OR .765"
C.  2 1/2"

* H643P EQUIV.  HOWE NO. N/A $21.00
SIZE: A.  1/2" OR .491"

B.  23/32" OR .721"
C.  3"



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 207

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

C

Tear Drop Pivots

RL PART # DESCRIPTION SUGG. LIST

* H672P EQUIV. HOWE NO.  N/A $25.00
SIZE: A.  1/2" OR .500"

B.  3/4" OR .750"
C.  3 1/4"

H884P EQUIV. HOWE NO.  40806361 $24.00
SIZE: A.  1/2" OR .500"

B.  3/4" OR .750"
C.  3 1/2"

H694P EQUIV. HOWE NO.  40800899 $27.00
SIZE: A.  9/16" OR .562"

B.  13/16" OR .812"
C.  2 1/2"

* H685P EQUIV. HOWE NO.  40807830 $30.00
SIZE: A.  9/16" OR .562"

B.  49/16" OR .765"
C.  3 3/8"

H657P EQUIV. HOWE NO.  40801214 $38.00
SIZE: A.  37/64" OR  .577"

B.  49/64" OR  .765"
C.  5 1/16"

H883P EQUIV. HOWE NO.  40805802 $29.00
SIZE: A.  9/16" OR .562"

B.  49/64" OR .765"
C.  3 1/2"

H673P EQUIV. HOWE NO. $30.00
SIZE: A.  49/64" OR .765"

B.  1 3/64" OR 1.078"
C.  4"

* H686P EQUIV. HOWE NO.  40807832 $29.00
SIZE: A.  49/64" OR .765"

B.  1 1/32" OR 1.031"
C.  4 1/8"

H660P EQUIV. HOWE NO.  40802591 $32.00
SIZE: A.  49/64" OR .765"

B.  1 1/32" OR 1.032"
C.  3 1/2"

H904P EQUIV. HOWE NO.  40802257 $29.00
SIZE: A.  49/64" OR .765"

B.  1 1/32" OR 1.032"
C.  4 1/2"

H885P EQUIV. HOWE NO.  40804934 $40.00
SIZE: A.  15/16" OR .937"

B.  1 1/4" OR 1.250"
C.  4 1/2"

H877P EQUIV. HOWE NO.  40801225 $72.00
SIZE: A.  15/16" OR .937"

B.  1 1/4" OR 1.250"
C.  7 3/4"



Individual Howe Scale Parts

208 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Hopper Scale Pivots and Bearings

RL PART # DESCRIPTION SUGG. LIST

H874 EQUIV. HOWE NO.  42102167 $23.00
SIZE:  7/8" x 7/8" x 11/16"
HOLE SIZE:  .386"
BEARING, LOAD & FULCRUM
HOPPER SCALE SERIES 10

H934 EQUIV. HOWE NO.  42102187 $30.00
SIZE:  1 1/4" x 1 3/8" x 1 3/8"
HOLE SIZE:  17/32"
HOPPER SCALE SERIES 20

H864 EQUIV. HOWE NO.  N/A $7.00
SIZE:  3/32" THICK x 5/8" W x 15/16" L
BEARING, FOR LOOP ASSEMBLY

H865 EQUIV. HOWE NO.  42080080 $10.00
SIZE:  5/32" THICK x 3/4" W x 1 15/16" L
BEARING, FOR LOOP ASSEMBLY

H866 EQUIV. HOWE NO.  41043253 $17.00
SIZE:  5/8" x 5/8" x 3/4" L
HOLE SIZE:  3/16", 2 TAPPED 10-14
BEARING

H867 EQUIV. HOWE NO.  41043254 $18.00
SIZE:  1/2" x 3/4" x 1/2"
HOLE SIZE:  3/16"
BEARING, CENTER CONNECTION

H868P EQUIV. HOWE NO.  41043687 $17.00
SIZE:  1/4" x 5/8" x 5/8"
PIVOT

H869P EQUIV. HOWE NO.  41043686 $21.00
SIZE:  1/4" x 5/8" x 3/4"
PIVOT, TAPERED ON BOTH ENDS

H870 EQUIV. HOWE NO.  42106791 $28.00
SIZE:  7/8" x 3/4" x 1 1/4" L
HOLE SIZE:  17/64"
BEARING, CENTER CONNECTION



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 209

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Hopper Scale Suspension Loops and Bearings

RL PART # DESCRIPTION SUGG. LIST

H919 EQUIV. HOWE NO.  42126334 $34.00
SIZE:  1 11/16" x 3" x 1 1/4"
HOLE SIZE:  1/2"
HOPPER SCALE SERIES 20
NEW STYLE

* H879 EQUIV. HOWE NO.  60800969 $89.00
SIZE: A.  3.062"

B.  1.28"
LOOP ASSEMBLY

H889 EQUIV. HOWE NO.  60800023 $87.00
SIZE: A.  2.906"

B.  1.88"
LOOP ASSEMBLY

H887 EQUIV. HOWE NO.  60800182 $92.00
SIZE: A.  3.406"

B.  1.88"
LOOP ASSEMBLY

H888 EQUIV. HOWE NO.  60811302 $86.00
SIZE: A.  3.406"

B.  1.88"
NUT & BOLT HOLDS SPOOL
LOOP ASSEMBLY, LOAD & FULCRUM
SERIES 10 NEW STYLE

H886 EQUIV. HOWE NO.  60801150 $92.00
SIZE: A.  4.406"

B.  1.88"
LOOP ASSEMBLY



Individual Howe Scale Parts

210 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Cast Pipe Lever Suspension and Bearings

RL PART # DESCRIPTION SUGG. LIST

H942 EQUIV. HOWE NO.  5316, 40803528 $210.00
SIZE:  7.5" W x 4.31" H x 4.28" L
REPLACES TEE BLOCK 5316 CASTING NO.
REPLACES TEE BLOCK 40803528

H914 EQUIV. HOWE NO.  4857 $245.00
SIZE:  6" x 5 15/16" x 11"
REPLACES 4857 CASTING NO.

22143 EQUIV. HOWE NO.  20790 $285.00
SIZE:  6" x 8 3/4 " x 11"
REPLACES 20790 CASTING NO.

H944 EQUIV. HOWE NO.  40814330, 18234, 13790 $145.00
SIZE:  8" x 1 5/16" x 9"
REPLACES CASTING NO. 40814330, 18234 & 13790

H703 EQUIV. HOWE NO.  44043783 $180.00
SIZE:  11" W x 1 3/4" H x 12" L
CASTING NO.  NC 43783, 19124, 40802638

H627 EQUIV. HOWE NO. DF NO. 2, 42034891 $45.00
20301, K34891

SIZE:  3/4" x 5/8" x 4"
BEARING, LOAD & FULCRUM
5-, 10-, & 15- TON CAST PIPE LEVER

H668 EQUIV. HOWE NO. DF NO. 1, 43078106, L78106 $55.00
SIZE:  1 5/16" x 7/8" x 6"
BEARING, LOAD & FULCRUM
20-, 30-,  & 50-TON CAST PIPE LEVER

H836 EQUIV. HOWE NO.  DF NO. 3, J37141 $32.00
SIZE:  1 3/4" x 7/8" x 2"
BEARING, TORQUE TUBE & SHACKLES

H859 EQUIV. HOWE NO.  DF NO. 4 $32.00
SIZE:  1 9/16" x 11/16" x 1 3/4"
BEARING, 5-, 10-,  & 15- TON



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 211

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Must Be Hand Fit

Must Be Hand Fit

Cast Pipe Lever Pivots and Straight Lever Friction Plates

RL PART # DESCRIPTION SUGG. LIST

H855P EQUIV. HOWE NO.  40801203 $65.00
SIZE: 7/8" SQ LARGE END x

13/16" SQ SMALL END x
7 3/4" L

PIVOT, 10 & 15 TON FULLY
MACHINED TYPE

H856P EQUIV. HOWE NO.  40801137 $90.00
SIZE: 1 1/8" SQ LARGE END x

1 1/16" SMALL END x
10 1/4" L

PIVOT, 20 & 30 TON FULLY MACHINED TYPE

H876P EQUIV. HOWE NO. N/A $108.00
SIZE: 1" SQ LARGE END x

3/4" SQ SMALL END x 7 3/4" L
PIVOT

H878P EQUIV. HOWE NO.  N/A $118.00
SIZE: 1 1/4" SQ LARGE END x

1 1/8" SQ SMALL END x 11 1/8" L
PIVOT

H877P EQUIV. HOWE NO.  40801225 $72.00
SIZE:  15/16" x 1 1/4" x 7 3/4"
PIVOT

H618 EQUIV. HOWE NO.  42043862 $7.00
SIZE:  1/4" x 1 1/2" x 3" L
HOLE SIZE:  5/16"
ANTI-FRICTION PLATE

H619 EQUIV. HOWE NO.  42035211 $6.00
SIZE:  3/16" x 3/4" x 1 1/2" L
HOLE SIZE:  9/32"
ANTI-FRICTION PLATE

H693 EQUIV. HOWE NO.  42040429 $11.25
SIZE:  1 1/4" DIA
HOLE SIZE:  17/64"
ANTI-FRICTION PLATE

14884 SCREW:  1/4-20 x 5/16" $0.50



Individual Howe Scale Parts

212 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Dura -Steel Suspension Saddles and Trunnions

RL PART # DESCRIPTION SUGG. LIST

H711 EQUIV. HOWE NO.  42103228 $60.00
SIZE:  2" x 2" x 5"
BEARING, HOLDER
USE BEARING NO. H624

H712 EQUIV. HOWE NO.  42103227 $76.00
SIZE:  2" DIA x 5 1/4"
PIN, FOR BEARING HOLDER

H907 EQUIV. HOWE NO.  62111015 $325.00
SIZE:  2 1/2" x 2 1/2" x  5 1/2"
SADDLE BLOCK ASSEMBLY
USE BEARING H848

H713 EQUIV. HOWE NO.  42103226 $90.00
SIZE:  2" DIA x 8 1/2"
TRUNNION

H906 EQUIV. HOWE NO.  42111013 $148.75
SIZE:  2 1/2" DIA x 9"
TRUNNION



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 213

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Dura -Steel Links and Pivots

RL PART # DESCRIPTION SUGG. LIST

H714L EQUIV.  HOWE NO.  62103221 $60.00
SIZE:  3/4" x 5" x 12 3/8"
LINK I.D.  8 3/8"
WILL FIT POWELL SCALE ALSO

H905L EQUIV. HOWE NO.  62111017 $115.00
SIZE:  1 x 5" x 14"
LINK I.D.  10 1/8"

H616P EQUIV. HOWE NO.  40802085 $22.00
SIZE:  1/2" x 1 1/8" x 6 1/2"
PIVOT
MOST COMMON

H722P EQUIV. HOWE NO.  N/A $27.00
SIZE:  .487" x 1" x 6 1/2"
PIVOT



Individual Howe Scale Parts

214 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

ROLL PIN
RL PART # 15263

SEE PAGE 194

Truck Scale Bearings

RL PART # DESCRIPTION SUGG. LIST

H625 EQUIV. HOWE NO.  40805922 $28.00
SIZE:  1" x 1" x 3 1/4"
HOLE SIZE:  1/4"
BEARING

H691 EQUIV. HOWE NO.  40803894 $32.00
SIZE:  1" x 1" x 4"
HOLE SIZE:  1/4"
BEARING

H624 EQUIV. HOWE NO.  40805916 $35.00
SIZE:  1" x 1" x 6 1/2"
HOLE SIZE:  1/4"
BEARING

H848 EQUIV. HOWE NO.  40807000 $55.00
SIZE:  1" x 1" x 10"
HOLE SIZE:  1/4"
BEARING

H645 EQUIV. HOWE NO.  42103716 $33.25
SIZE:  1" x 2" x 2 5/8"
HOLE SIZE:  11/16"
FOR PORTABLE VEHICLE SCALES

H622 EQUIV. HOWE NO.  42103282 $19.00
SIZE:  5/8" x 1 1/4" x 2 3/8"
BEARING, UPPER SHACKLE

H623 EQUIV. HOWE NO.  42103281 $25.00
SIZE:  5/8" x 1 1/4" x 2 3/8"
1/4-20 TAPPED HOLES

P701 EQUIV. HOWE NO. N/A $38.00
SIZE:  2" x 1 7/8" x 6"
BEARING ASSEMBLY LOWER
BEARING LENGTH:  2 3/4"

P702 EQUIV. HOWE NO. N/A $37.00
SIZE:  2" x 1 3/4" x 6"
BEARING ASSEMBLY UPPER
BEARING LENGTH:  2 3/4"



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 215

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Motor Truck, Industrial, Axle Load and Livestock Scale Pivots

RL PART # DESCRIPTION SUGG. LIST

H852P EQUIV. HOWE NO.  40807048 $45.50
SIZE:  1/2" x 1 1/8" x 10"
SQUARE BOTH ENDS

H616P EQUIV. HOWE NO.    40802085 $22.00
SIZE:  1/2" x 1 1/8" x 6 1/2"
SQUARE BOTH ENDS

H655P EQUIV. HOWE NO.  40803860 $17.00
SIZE:  1/2" x 1 1/8" x 4"
SQUARE BOTH ENDS

H610P EQUIV. HOWE NO.  40801070 $16.00
SIZE:  1/2" x 1 1/8" x 3 1/2"
SQUARE BOTH ENDS
60 & 80-TON LOAD & FULCRUM

H620P EQUIV. HOWE NO.  40805312 $15.00
SIZE:  1/2" x 1 1/8" x 3 1/4"
SQUARE BOTH ENDS

H611P EQUIV. HOWE NO.  40801090 $14.00
SIZE:  1/2" x 1 1/8" x 2 3/4"
SQUARE BOTH ENDS
50-TON LOAD & FULCRUM

H612P EQUIV. HOWE NO.  40801081 $13.00
SIZE:  1/2" x 1 1/8" x 2 1/2"
SQUARE BOTH ENDS

H626P EQUIV. HOWE NO.  40801080 $13.00
SIZE:  1/2" x 1 1/8" x 2 1/4"
SQUARE BOTH ENDS

H621P EQUIV. HOWE NO.  40801126 $20.00
SIZE:  1/2" x 1 1/8" x 2 1/4"
TAPERED BOTH ENDS

H613P EQUIV. HOWE NO.  40801092 $13.00
SIZE:  1/2" x 1 1/8" x 2 1/8"
SQUARE BOTH ENDS

H614P EQUIV. HOWE NO.  40801131 $18.00
SIZE:  1/2" x 1 1/8" x 2"
TAPERED BOTH ENDS

H615P EQUIV. HOWE NO.  40801076 $18.00
SIZE:  1/2" x 1 1/8" x 1 1/2"
TAPERED BOTH ENDS

H656P EQUIV. HOWE NO.  40801248 $15.00
SIZE:  1/2" x 1 1/8" x 1 3/32"
TAPERED ONE END

H617P EQUIV. HOWE NO.  40801077 $12.00
SIZE:  1/2" x 1 1/8" x 1"
TAPERED ONE END

H692P EQUIV. HOWE NO.  40804124 $15.00
SIZE:  1/2" x 1 1/8" x 1 3/16"
TAPERED BOTH ENDS



Individual Howe Scale Parts

216 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Motor Truck, Industrial Light Truck, Axle Load and Livestock Scale Bearings

RL PART # DESCRIPTION SUGG. LIST

H647 EQUIV. HOWE NO.  42138860 $29.00
SIZE:  5/8" x 2" x 3 1/4" L
HOLE SIZE:  1/2 of 1 1/32"
TAPERED END
30-, 60- & 80-TON LOAD & FULCRUM BEARING
NEW STYLE

H601 EQUIV. HOWE NO.  42052705 $29.00
SIZE:  5/8" x 2" x 3 1/4" L
HOLE SIZE:  1 1/32"
TAPERED ON END, BEARING
30-, 60- & 80-TON LOAD & FULCRUM, OLD STYLE

H602 EQUIV. HOWE NO.  42043855 $26.00
SIZE:  5/8" x 2" x 2 1/2" L
HOLE SIZE  1 1/32"
TAPERED ENDS
20- & 50-TON LOAD T-BLOCK

H603 EQUIV. HOWE NO.  42043937 $18.00
SIZE:  5/8" x 1 1/4" x 2" L
HOLE SIZE  41/64"
TAPERED ENDS

H604 EQUIV. HOWE NO.  42043940 $17.00
SIZE:  5/8" x 1 1/4" x 1 5/8" L
HOLE SIZE:  33/64"
TAPERED ENDS

H605 EQUIV. HOWE NO.  42043939 $16.00
SIZE:  5/8" x 1 1/4" x 1 1/2" L
HOLE SIZE:  33/64"
SQUARE ENDS

H606 EQUIV. HOWE NO.  42043938 $16.00
SIZE:  5/8" x 1 1/4" x 1" L
HOLE SIZE:  33/64"
SQUARE ENDS

H630 EQUIV. HOWE NO.  42035173 $18.00
SIZE:  1/2" x 1 1/8" x 1 15/32" L
HOLE SIZE:  13/32"
BEARING



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 217

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Motor Truck, Industrial, Light Truck, Axle Load and Livestock Scale Bearings

RL PART # DESCRIPTION SUGG. LIST

* H628 EQUIV. HOWE NO.  41019415 & J19415 $14.00
SIZE:  7/16" x 1/2" x 1 1/16" L
BEARING, BEAM

* H629 EQUIV. HOWE NO.  42061321 $23.00
SIZE:  3/4" x 1" x 1 1/2" L
BEARING, BEAM
20-, 30-, & 50-TON

H607 EQUIV. HOWE NO.  41036433 $15.00
SIZE:  1/2" x 1 1/8" x 1" L
HOLE SIZE:  25/64"

H609 EQUIV. HOWE NO.  42044398 $18.00
SIZE:  5/8" x 1 1/4" x 2" L
TAPERED END

H608 EQUIV. HOWE NO.  42044397 $20.00
SIZE:  5/8" x 1 1/4" x 2 1/2" L
TAPERED END
 20-& 50-TON FULCRUM BEARING

* H901 EQUIV. HOWE NO.  42146392 $55.00
SIZE:  7/8" x 1 5/16" x 2"  L
TAPERED END

* H902 EQUIV. HOWE NO.  42146338 $59.25
SIZE:  1" x 1 7/16" x 2 7/8" L
TAPERED END

H622 EQUIV. HOWE NO.  42103282 $19.00
SIZE:  5/8" x 1 1/4" x 2 3/8"  L
STRAIGHT ENDS

H623 EQUIV. HOWE NO.  42103281 $25.00
SIZE:  5/8" x 1 1/4" x 2 3/8" L
1/4-20 TAPPED HOLES
STRAIGHT ENDS



Individual Howe Scale Parts

218 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Cast and Super Cast Truck Scale Parts and Miscellaneous Diameter Balls

RL PART # DESCRIPTION SUGG. LIST

33648 EQUIV. THURMAN NO.  N/A $20.00
SIZE:  3 1/2" DIA
BALL (CAST) WT 6 LB

33649 EQUIV. HOWE NO.  42094659 $15.00
SIZE:  3" DIA
BALL (CAST) WT 4 LB 3 OZ

33646 EQUIV. THURMAN NO.  N/A $14.00
SIZE:  2 1/2" DIA
BALL (CAST) WT 2 LB 1 OZ

H644 EQUIV. HOWE NO.  42102471 $14.00
SIZE:  2 3/8" DIA
BALL (CAST) WT 2 LB 3 OZ

33645 EQUIV. THURMAN NO.  N/A $22.00
SIZE:  2" DIA
BALL (STEEL) WT 1 LB 2 OZ

H697 EQUIV. HOWE NO.  N/A $10.00
SIZE:  1 1/2" DIA
BALL (STEEL) WT 8 OZ

TH927 EQUIV. THURMAN NO.  N/A $7.00
SIZE:  1 7/16" DIA
BALL (STEEL) WT 4 OZ

H648 EQUIV. HOWE NO.  42035848 $9.00
SIZE:  1 5/16" DIA
BALL (STEEL) WT 6 OZ
MODELS:  57, TYPE 54, FLOOR SCALES ETC.

10772 EQUIV. HOWE NO.  N/A $6.00
SIZE:  1" DIA
BALL (STEEL) WT 1 OZ

18816 EQUIV. HOWE NO.  N/A $4.00
SIZE:  7/8" DIA
BALL (STEEL) WT 1 OZ

10993 EQUIV. HOWE NO.  N/A $4.00
SIZE:  3/4" DIA
BALL (STEEL) WT 1 OZ

18815 EQUIV. HOWE NO.  N/A $2.00
SIZE:  5/8" DIA
BALL (STEEL) WT 1 OZ

H703 EQUIV. HOWE NO.  44043783 $180.00
CASTING NO.  40802638, NC 43783
SIZE:  11" W x 1 3/4" H x 12"
BALL PLATE FOR 20-, 30-, 50-, 60-, & 80-TON
CAPACITY TRUCK SCALES
WT 31 LB



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 219

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E
With Bearing, Pins and

Leveling Bolts

Dura-Steel and Cast Straight Lever Fulcrum Stands

RL PART # DESCRIPTION SUGG. LIST

H702 EQUIV. HOWE NO.  62088963, 44043774 $260.00
REPLACES CASTING NO.  NC43774, 40802636
SIZE:  6 1/2" x 8" x 15"
MAIN LEVER STAND FOR 20- & 50-TON

H715 EQUIV. HOWE NO.  62124298, 43124297 $375.00
62090922, 44052704
REPLACES CASTING NO.  PC52704, 40802653
SIZE:  8" x 9" x 17"
MAIN LEVER STAND FOR 30-, 60- & 80-TON

H918 EQUIV. HOWE NO.  62098972, 44043916 $310.00
REPLACES CASTING NO.  NC43916, 40802644
SIZE:  7 1/2" x 14" x 15 1/4
CENTER EXTENSION LEVER STAND 50-TON

H917 EQUIV. HOWE NO.  62104416, 44096673 $310.00
REPLACES CASTING NO.  NC96673, 40802594
SIZE:  7 1/2" x 14" x 16 1/8"
CENTER EXTENSION LEVER STAND 60- & 80-TON

H921 EQUIV. HOWE NO.  62093971, 44043915 $310.00
REPLACES CASTING NO.  NC43915, 40802643
SIZE:  7 1/2" x 12" x 11 3/4"
END EXTENSION LEVER STAND 50-TON

H936 EQUIV. HOWE NO.  62090970, 44052711 $310.00
REPLACES CASTING NO.  NC52711, 40802654
SIZE:  7 5/8" x 12" x 12 1/4"
END EXTENSION LEVER STAND 60- & 80-TON

H910 EQUIV. HOWE NO.  62103235 $250.00
SIZE:  8" x 14" x 11"
MAIN LEVER STANDS, DURA-STEEL
STEEL FABRICATED FOR H624 BEARING

Cast and Super Cast Truck Scale Parts (Cont.)

RL PART # DESCRIPTION SUGG. LIST

H704 EQUIV. HOWE NO.  62093965, 45043779 $350.00
CASTING NO.  40802637, PC 43779
SIZE:  7" W x 9" H x 11"
T-ASSEMBLY FOR 20- & 50-TON
CAPACITY TRUCK SCALES
WITH BEARING & PINS
WT 61 LB

H716 EQUIV. HOWE NO.  62090971, 62126599, $525.00
44052706, 43126598
CASTING NO.  40802656
SIZE:  10 1/4" W x 10" H x 11 1/2"
T-ASSEMBLY FOR 30-,60-, & 80-TON
CAPACITY TRUCK SCALES
WITH BEARING AND PINS
WT 88 LB



Individual Howe Scale Parts

220 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Motor Truck Scale and Axle Load Scale Parts

RL PART # DESCRIPTION SUGG. LIST

15256 EQUIV. HOWE NO.  10902998 $1.25
SIZE:  3/16" DIA x 1 1/2"
ROLL PIN

15263 EQUIV. HOWE NO.  20906224 $0.75
SIZE:  1/4" DIA x 3/4"
ROLL PIN

15290 EQUIV. HOWE NO.  20906027 $2.00
SIZE:  3/8" DIA  x 1 1/2"
ROLL PIN

15301 EQUIV. HOWE NO.  20905682 $1.75
SIZE:  1/2" DIA  x 1 3/4"
ROLL PIN

H637 EQUIV. HOWE NO.  40801235 $6.00
SIZE:  5/8" DIA x 1 3/4"
KNURLED PIN

H632 EQUIV. HOWE NO.  40801166 $6.00
SIZE:  5/8" DIA x 2 3/8"
KNURLED PIN

H633 EQUIV. HOWE NO.  40800890 $8.00
SIZE:  1" DIA x 2 3/8"
KNURLED PIN

Howe Parts Available But Not Shown

* H916 EQUIV. HOWE NO.  N/A CALL FOR QUOTE
SIZE:  1 1/4 x 1 x 6 3/8

H920 EQUIV. HOWE NO.  N/A $36.25
SIZE:  1 x 1 x 6



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 221

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

A-1 A-1

Center Extension
A-2

B-2

End Extension

B-1

C-2

Transverse Lever (5th Lever)

C-1

D-1

Reconditioned Levers Available
Call With Casting #

Main Lever



Individual Howe Scale Parts

222 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Reconditioned Lever Availablility
Call for Pricing & Availablility

REFERENCE # DESCRIPTION CASTING #

A-1 NOSE IRON OLD CASTING NO. NC43911
NOSE IRON NEW CASTING NO. 40802658

REFERENCE # DESCRIPTION CASTING #

A-2 CENTER EXTENSION 14'2" OLD CASTING NO. NC44391
CENTER EXTENSION 14'2" NEW CASTING NO. 40802649
CENTER EXTENSION 16'8" OLD CASTING NO. PC43819
CENTER EXTENSION 16'8" NEW CASTING NO. 40802650
CENTER EXTENSION 14'10" NEW CASTING NO. 40810042
CENTER EXTENSION 14'10" NEW CASTING NO. 40810043

REFERENCE # DESCRIPTION CASTING #

B-1 NOSE IRON OLD CASTING NO. NC43872
NOSE IRON NEW CASTING NO. 40802657

REFERENCE # DESCRIPTION CASTING #

B-2 END EXTENSION 10' OLD CASTING NO. NC44931
END EXTENSION 10' NEW CASTING NO. 40802647
END EXTENSION 12'6" OLD CASTING NO. PC43871
END EXTENSION 12'6" NEW CASTING NO. 40802648
END EXTENSION 10'10" NEW CASTING NO. 40802645
END EXTENSION 7'6" NEW CASTING NO. 40802646

REFERENCE # DESCRIPTION CASTING #

C-1 NOSE IRON OLD CASTING NO. NC43872
NOSE IRON NEW CASTING NO. 40802657

REFERENCE # DESCRIPTION

C-2 TRANSVERSE LEVER, PLEASE CALL

REFERENCE # DESCRIPTION CASTING #

D-1 MAIN LEVER 50 TON OLD CASTING NO. PC437230
MAIN LEVER 50 TON OLD CASTING NO. PC55441
MAIN LEVER 50 TON NEW CASTING NO. 40802635
MAIN LEVER 60 TON OLD CASTING NO. PC52703
MAIN LEVER 60 TON NEW CASTING NO. 40802655



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 223

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Railroad Track Scale Parts

RL PART # DESCRIPTION SUGG. LIST

H2100RRP EQUIV. HOWE NO. 40805933 $48.00
PIVOT, 1" x 1 3/4" x 3 1/2"

H2101RRP EQUIV. HOWE NO. N/A $48.00
PIVOT, 1" x 1 3/4" x 5"

H2102RRP EQUIV. HOWE NO. N/A $48.00
PIVOT, 1" x 2" x 5"

H2103RRP EQUIV. HOWE NO. N/A $52.00
PIVOT, 1" x 2" x 5 1/2"

H2104RRP EQUIV. HOWE NO. 40806245 $53.00
PIVOT, 1" x 2" x 5 5/8"

H2105RRP EQUIV. HOWE NO. 40808259 $70.00
PIVOT, 1" x 2" x 8"

H2106RRP EQUIV. HOWE NO. N/A $98.00
PIVOT, 1" x 2" x 12 1/2"

H2107RRP EQUIV. HOWE NO. N/A $308.00
PIVOT, 1 1/4" x 2 1/4" x 20"

H2108RRP EQUIV. HOWE NO. N/A $47.00
PIVOT, 1" x 2" x 4 1/2"

H2109RRP EQUIV. HOWE NO. N/A $48.00
PIVOT, 1" x 2" x 4 3/4"

H2111RRP EQUIV. HOWE NO. N/A $76.00
PIVOT, 3/4" x 1 1/2" x 6 1/2"

H2112RRP EQUIV. HOWE NO. N/A $65.00
PIVOT, 3/4" x 1 1/2" x 5"

H2113RRP EQUIV. HOWE NO. N/A $56.00
PIVOT, 3/4" x 1 1/2" x 3 1/2"

H2116RRP EQUIV. HOWE NO. 40808230 $92.00
PIVOT, 1" x 2" x 9"

H2117RRP EQUIV. HOWE NO. N/A $162.00
PIVOT, 3/4" x 1 1/2" x 12 3/8"

H2119RRP EQUIV. HOWE NO. 40808260 $260.00
PIVOT, 1" x 2" x 20"

H2121RRP EQUIV. HOWE NO. N/A $26.00
PIVOT, 1/2" x 1 1/8" x 5 1/16"

H2122RRP EQUIV. HOWE NO. N/A $77.00
PIVOT, 1" x 2" x 6"

H2123RRP EQUIV. HOWE NO. N/A $79.00
PIVOT, 3/4" x 2" x 6"



Individual Howe Scale Parts

224 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Railroad Track Scale Parts

RL PART # DESCRIPTION SUGG. LIST

H2124RRP EQUIV. HOWE NO. N/A $52.00
PIVOT, 1" x 2" x 3 1/2"

H2125RRP EQUIV. HOWE NO. 60816859 $82.00
PIVOT, 3/4" x 1 1/2" x 10"

H2126RRP EQUIV. HOWE NO. 40809026 $26.00
PIVOT, 1/2" x 1 1/8" x 3 7/8"

H2127RRP EQUIV. HOWE NO. 40808408 $32.00
PIVOT, 1/2" x 1 1/8" x 5 1/4"

H2128RRP EQUIV. HOWE NO. N/A $76.00
PIVOT, 1" x 2" x 5 9/16"

H2129RRP EQUIV. HOWE NO. 40804110 $82.00
PIVOT, 3/4" x 1 3/4" x 6"

H2132RRP EQUIV. HOWE NO. 40808251 $74.00
PIVOT, 1" x 2" x 5 1/8"

H2134RRP EQUIV. HOWE NO. N/A $105.00
PIVOT, 7/8" SQUARE TAPERED x 5 3/4

H2300RR EQUIV. HOWE NO. 44019193 $156.00
BEARING, 2" x 2 7/16" x 7 7/16"

H2301RR EQUIV. HOWE NO. 40820608 $140.00
BEARING, 2" x 2 1/2" x 5"

H2302RR EQUIV. HOWE NO. N/A $130.00
BEARING, 2" x 2 1/4" x 4 1/2"

H2303RR EQUIV. HOWE NO. 42061650 $140.00
BEARING, 2" x 2 3/16" x 5"

H2304RR EQUIV. HOWE NO. N/A $200.00
BEARING, 1 1/2" x 1 3/4" x 9 3/16"

H2305RR EQUIV. HOWE NO. 43019339 $128.00
BEARING, 1 1/2" x 1 5/8" x 4"

H2306RR EQUIV. HOWE NO. 40814207 $126.00
BEARING, 1 1/2" x 1 3/4" x 3 9/16"

H2307RR EQUIV. HOWE NO. 40820611 $126.00
BEARING, 1 1/4" x 1 3/4" x 3 5/8"

H2308RR EQUIV. HOWE NO. 42128770 $126.00
BEARING, 1 1/2" x 1 3/4" x 3 5/8"

H2309RR EQUIV. HOWE NO. N/A $122.00
BEARING, 1 1/4" x 2" x 3"



©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice 225

Individual Howe Scale Parts

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Railroad Track Scale Parts

RL PART # DESCRIPTION SUGG. LIST

H2310RR EQUIV. HOWE NO. N/A $78.00
BEARING, 1" x 1 15/16" x 4 1/2"

H2311RR EQUIV. HOWE NO. N/A $80.00
BEARING, 1" x 1 15/16" x 5 3/16"

H2312RR EQUIV. HOWE NO. N/A $190.00
BEARING, 1" x 1 1/2" x 12 5/8"

H2313RR EQUIV. HOWE NO. N/A $293.00
BEARING, 1" x 1 1/4" x 20 1/4"

H2316RR EQUIV. HOWE NO. 42114517 $153.00
BEARING, 1 1/2" x 1 3/4" x 5 1/8"

H2317RR EQUIV. HOWE NO. 42114518 $156.00
BEARING, 1 1/2" x 1 3/4" x 6"

H2318RR EQUIV. HOWE NO. 40816725 $149.00
BEARING, 1" x 1 1/4" x 6 1/2"

H2319RR EQUIV. HOWE NO. 40816724 $166.00
BEARING, 1" x 1 1/4" x 12 3/8"

H2320RR EQUIV. HOWE NO. 41039539 $62.00
BEARING, 1" x 1 7/16" x 2 3/8"

H2321RR EQUIV. HOWE NO. N/A $336.00
BEARING, 1" x 1 1/2" x 20 1/4"

H2322RR EQUIV. HOWE NO. K103229-5 $90.00
BEARING, 1" x 1" x 5"

H2323RR EQUIV. HOWE NO. K103229-2 3/4 $55.00
BEARING, 1" x 1" x 2 3/4"

H2324RR EQUIV. HOWE NO. K103229-3 7/8 $65.00
BEARING, 1" x 1" x 3 7/8"

H2325RR EQUIV. HOWE NO. N/A $144.00
BEARING, 1" x 1" x 10"

H2326RR EQUIV. HOWE NO. N/A $150.00
BEARING, 1 1/2" x 1 3/4" x 6 1/8"

H2328RR EQUIV. HOWE NO. N/A $125.00
BEARING, 1 1/2" x 1 3/4" x 4 1/2"

H2329RR EQUIV. HOWE NO. N/A $124.00
BEARING, 1 1/2" x 1 3/4" x 4"

H2500RR EQUIV. HOWE NO. K114407 $390.00
LINK



Individual Howe Scale Parts

226 ©  Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

* Item to be discontinued.  When remaining stock is depleted, published prices are withdrawn and the item is subject to a
special order quote.

HO
W

E

Railroad Track Scale Parts

RL PART # DESCRIPTION SUGG. LIST

H2501RR EQUIV. HOWE NO. 62121944 $718.00
SADDLE BLOCK

H2502RR EQUIV. HOWE NO. 42114397 $290.00
TRUNNION

H2503RR EQUIV. HOWE NO. N/A $290.00
TRUNNION

H2504RR EQUIV. HOWE NO. N/A $694.00
SADDLE BLOCK

H2505RRL EQUIV. HOWE NO. N/A $395.00
LINK



227© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

HOWE KITS



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice228

HO
W

E KITS

Howe Kit Price Index
By Rice Lake Part Number

RL PART # SUGG. LIST PAGE #

H-651-K ....... $1,625.00........ 232
H-652-K ......  $1,735.00........ 233
H-653-K ......  $3,025.00........ 234
H-654-K ....... $4,025.00........ 235
H-655-K ....... $3,275.00........ 236
H-656-K ....... $4,220.00........ 237
H-659-K .........  $835.00........ 240
H-660-K ...........$935.00........ 240
H-661-K ....... $1,660.00........ 241
H-662-K ....... $1,760.00........ 241
H-663-K ....... $1,525.00........ 238
H-664-K ......  $1,900.00........ 239
H-665-K ...........$875.00........ 230
H-666-K ...........$875.00........ 231

H-669-K ...........$250.00........ 229
H-670-K ...........$250.00........ 229
H-671-K ....... $1,430.00. 238,240
H-672-K ....... $2,860.00....... 239,

240,241
H-673-K ...........$825.00........ 238
H-674-K ...........$675.00........ 231
H-675-K ...........$725.00........ 242
H-676-K ...........$636.00........ 229
H-677-K ....... $2,225.00........ 232
H-678-K ....... $2,760.00........ 233
H-679-K ....... $4,450.00........ 234
H-680-K ....... $5,520.00........ 236
H-681-K ....... $5,560.00........ 235

H-682-K ....... $6,900.00........ 237
H-684-K ....... $3,575.00........ 239
H-686-K ...........$220.00........ 242
H-687-K ...........$330.00........ 242
H-688-K ...........$160.00........ 243
H-689-K ...........$170.00........ 243
H-1150-RK . $12,575.00........ 245
H-1202-RK . $15,600.00........ 245
H-1202-SRK $14,700.00........ 245
H-1203-RK ... $9,380.00........ 244
H-1203-SRK $14,770.00........ 244
H-1204-RK . $14,400.00........ 244

RL PART # SUGG. LIST PAGE # RL PART # SUGG. LIST PAGE #

Howe Kit Cross Reference
By Equivalent Howe Number

EQUIV.
HOWE # RL PART # PAGE #

Motor Truck Scales, Super Cast:
70810292 ....... H-653-K ........ 234
70816905 ....... H-654-K ........ 235
70816906 ....... H-651-K ........ 232
70818312 ....... H-655-K ........ 236
70818313 ....... H-652-K ........ 233

EQUIV.
HOWE # RL PART # PAGE #

EQUIV.
HOWE # RL PART # PAGE #

Portable Vehicle Scales, Self-Contained:
70819732 ....... H-659-K ........ 240
70819733 ....... H-660-K ........ 240

Portable & Bench Dial Scales:
70819446 ....... H-676-K ........ 229
70819448 ....... H-674-K ........ 231



229© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-669-K
Portable Beam Scale, Models 54 & 57
QTY RL PART # EQUIV. HOWE # DESCRIPTION

1 .......... H698P ............. 40800295 .................. PIVOT, LOAD BEAM
8 .......... H646P ............. 42034246 .................. PIVOT, LOAD & FULCRUM
4 .......... H676 ............... 43066321 .................. BEARING, LOAD W/PIN & COTTER MODEL  57
4 .......... H677 ............... 10904911 .................. PIN, WITH CLIPS
4 .......... H701 ............... 52069557 .................. LOOP, CORNER ASSEMBLY
2 .......... H858P ............. 42066333 .................. PIVOT, CENTER CONNECTION
4 .......... H913 ............... 42102378 .................. BEARING, LOAD, OLD STYLE
4 .......... H648 ............... 42035848 .................. BALLS
1 .......... H699P ............. 40800815 .................. PIVOT, FULCRUM
1 .......... H933P ............. 40800366 .................. PIVOT, TIP

$250.00 Sugg. List / 6 lb Ship Wt.

Kit No. H-670-K
For Bench and Portable Scales, Models 54XL, 54XL1, 54XL2, X-Actron XL Models  5400, 5401, 5402,
6400, 6401, 6402, 7401, 7402, Triner 2100, 2200, Apache
QTY RL PART # EQUIV. HOWE # DESCRIPTION

11 ........ H670P ............. N/A............................. PIVOT, LOAD, FULCRUM, NOSE CONN
2 .......... H705 ............... 62111464 .................. HANGER ASSEMBLY, LONG
2 .......... H706 ............... 62111465 .................. HANGER ASSEMBLY, SHORT
4 .......... H707 ............... 22111450 .................. HANGER CLIP
1 .......... H708 ............... 62111462 .................. SUMMATING HANGER ASSEMBLY
4 .......... H709 ............... 42111422 .................. BEARING, LOAD
1 .......... H834 ............... 60266639 .................. LOOP

$250.00 Sugg. List / 3 lb Ship Wt.

Kit No. H-676-K
For Portable & Bench Scales Understructure, 26" x 32" & 32" x 32", Models  5700-1, 5700-2, 5700-3,
5700-4, 5800-1, 5800-2, 5800-3,5800-4, 9400-1, 9400-2, 9500-1, 9500-2, 9700-1, 9700-2, 9800-1,
9800-2
EQUIV. HOWE # 70819446
QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... H654 ............... 40806973 BEARING
8 .......... H669P ............. 42106554 PIVOT
2 .......... H679P ............. 42106396 PIVOT
2 .......... H681 ............... N/A BEARING
1 .......... H682 ............... 42092818 BEARING
1 .......... H683P ............. 42092817 PIVOT
8 .......... H680L ............. 22035255 LINK

$636.00 Sugg. List / 5 lb Ship Wt.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice230

HO
W

E KITS

Kit No. H-665-K
Self-Contained Floor Scale, (Dormant)  All Metal Box Type, Models 100 To 104 & Skeleton Frame Type,
Models 105 To 109
RL PART #       QTY DESCRIPTION

H656P 2 EQUIV. HOWE NO.  40801248
SIZE:  1/2" x 1 1/8" x 1 3/32"
TAPERED ON ONE END

H614P 4 EQUIV. HOWE NO.  40801131
SIZE:  1/2" x 1 1/8" x 2"
TAPERED ON BOTH ENDS

H658P 1 EQUIV. HOWE NO.  40800633
SIZE:  A. 1/2" x  B. 45/64" x 2 1/2"

H657P 1 EQUIV. HOWE NO.  40801214
SIZE:  A. 37/64" x  B. 49/64" x 5 1/16"

H660P 4 EQUIV. HOWE NO.  40802591
SIZE:  A. 49/64" x  B. 1 1/32" x 3 1/2"

H904 4 EQUIV. HOWE NO.
SIZE:  A.  49/64" x  B.  1 1/32" x 4 1/2"

H659P 2 EQUIV. HOWE NO.  42097659
SIZE:  3/4" x 3 1/2"

H607 10 EQUIV. HOWE NO. 41036433
SIZE:  1/2" x 1 1/8" x 1"
HOLE SIZE:  3/8"

15290 10 EQUIV. HOWE NO.  20906027
SIZE:  3/8" x 1 1/2"
ROLL PIN (8 LOAD & 2 FULCRUM TRANS STAND)

H662 2 EQUIV. HOWE NO.  42095156
SIZE:  5/8" x 5/8" x 1 9/16"

H663 2 EQUIV. HOWE NO.  42091698
SIZE:  1" x 3/4" x 1 5/8"
HOLE SIZE:  21/64"

H661 4 EQUIV. HOWE NO.  42054290
SIZE:  1 1/2" DIA

H648 8 EQUIV. HOWE NO.  42035848
SIZE:  1 5/16" DIA
BALL,  STEEL

$875.00 Sugg. List / 22 lb Ship Wt.



231© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-666-K
Self-Contained Floor Scale, (Dormant) Old Style Models TC 1,2
RL PART #      QTY DESCRIPTION

H656P 2 EQUIV. HOWE NO.  40801248
SIZE:  1/2" x 1 1/8" x 1 3/32"
TAPERED ON ONE END

H614P 4 EQUIV. HOWE NO.  40801131
SIZE:  1/2" x 1 1/8" x 2"
TAPERED ON BOTH ENDS

H672P 1 EQUIV. HOWE NO.  N/A
SIZE:  A. 1/2" x B. 45/64" x 3 1/4"

H657P 1 EQUIV. HOWE NO.  40801214
SIZE:  A. 37/64" x B. 49/64" x 5 1/16"

H673P 4 EQUIV. HOWE NO.  N/A
SIZE:  A. 49/64" x B. 1 1/32" x 4"

H659P 2 EQUIV. HOWE NO.  42097659
SIZE:  3/4" x 3 1/2"

H607 14 EQUIV. HOWE NO.  41036433
SIZE:  1/2" x 1 1/8" x 1"
HOLE SIZE:  3/8"

H661 4 EQUIV. HOWE NO.  42054290
SIZE:  1 1/2" DIA

H648 8 EQUIV. HOWE NO.  42035848
SIZE:  1 5/16" DIA
BALL

H671 2 EQUIV. HOWE NO.  N/A
SIZE:  1 7/32" x 1 1/8" x 1 1/4"
HOLE SIZE:  3/8"

$875.00 Sugg. List / 13 lb Ship Wt.

Kit No. H-674-K
22" x 22" Platform, Understructure Only, Spec. #88834, Model 5600
EQUIV. HOWE # 70819448
QTY RL PART # EQUIV. HOWE # DESCRIPTION

4 .......... H654 ............... 20806162 .................. BEARING, 1" DIA
6 .......... H678 ............... 20806335 .................. BEARING, 5/8" x 9/16" x 15/16"
1 .......... H682 ............... 20806249 .................. BEARING, 3/4" x 5/8" x 9/32"
1 .......... H717 ............... 20806268 .................. BEARING, 3/4" x 3/8" x 9/16"
1 .......... H718P ............. 20805917 .................. PIVOT, 3/8" x 3/4" x 2 3/4"
10 ........ H719P ............. 20806230 .................. PIVOT, 1/2" x 2", PIVOT EDGE:  1 1/8"
1 .......... H721P ............. 20805935 .................. PIVOT, 5/8" DIA x 4 11/16"

$675.00 Sugg. List  / 4 lb Ship Wt.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice232

HO
W

E KITS

Kit No. H-651-K
20-Ton, 2-Section Truck & Axle Load Scale, Cast Straight Lever & Super Cast Main Lever Casting No.
PC43720, PC55441 or 40802635, Models 5918, 5922, 5930, 5982, 5984, 5986, 5988 & Axle Load
Models 2908 & 2910
EQUIV. HOWE # 70816906
QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... H602 ............... 42043855 .................. BEARING, LOAD, MAIN LEVER
8 .......... H608 ............... 42044397 .................. BEARING, FULCRUM, MAIN LEVER
16 ........ H611P ............. 40801080 .................. PIVOT, LOAD & FULCRUM, MAIN LEVER
12 ........ H617P ............. 40801088 .................. PIVOT, TIP
12 ........ H606 ............... 42043938 .................. BEARING, TIP, SHACKLES
4 .......... H603 ............... 42043937 .................. BEARING, LOAD, END EXTENSION
6 .......... H609 ............... 42044398 .................. BEARING, FULCRUM END EXTENSION & TRANSVERSE
8 .......... H613P ............. 40801092 .................. PIVOT, LOAD & FULCRUM, END EXTENSION
2 .......... H604 ............... 42043940 .................. BEARING, LOAD, TRANSVERSE LEVER
2 .......... H612P ............. 40801081 .................. PIVOT, LOAD, TRANSVERSE LEVER
2 .......... H626P ............. 40801080 .................. PIVOT, FULCRUM, TRANSVERSE LEVER
1 .......... H615P ............. 40801076 .................. PIVOT, TIP, TRANSVERSE LEVER
1 .......... H630 ............... 42035173 .................. BEARING, TIP, TRANSVERSE LEVER
28 ........ H618 ............... 42043862 .................. FRICTION PLATE
14 ........ H619 ............... 42035211 .................. FRICTION PLATE
8 .......... H633 ............... 40800890 .................. KNURLED PIN
14 ........ 15301 .............. 20805682 .................. ROLL PIN
10 ........ H637 ............... 40801235 .................. KNURLED PIN

$1,625.00 Sugg. List / 57 lb Ship Wt.

Kit No. H-677-K
Suspension Kit For H-651-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... 33649 .............. 42094659 .................. BALL, 3" DIA. CAST
4 .......... H703 ............... 40802638 .................. BALL PLATE
4 .......... H704 ............... 40802637 .................. TEE BLOCK

$2,225.00 Sugg. List / 445 lb Ship Wt.



233© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-652-K
30-Ton, 2-Section Truck & Axle Load Scale, Cast Straight Lever & Super Cast Main Lever Casting No.
PC52703 or 40802655, Models 5992, 5994, & Axle Load 3910, 3912, 3914
EQUIV. HOWE # 70818313
QTY RL PART # EQUIV. HOWE # DESCRIPTION

16 ........ H601* .............. 42052705 .................. BEARING, LOAD & FULCRUM, MAIN LEVER
16 ........ H610P ............. 40801070 .................. PIVOT, LOAD & FULCRUM, MAIN LEVER
12 ........ H617P ............. 40801077 .................. PIVOT, TIP
12 ........ H606 ............... 42043938 .................. BEARING, TIP, SHACKLES
4 .......... H603 ............... 42043937 .................. BEARING, LOAD, END EXTENSION
6 .......... H609 ............... 42044398 .................. BEARING, FULCRUM, END EXTENSION
8 .......... H613P ............. 40801092 .................. PIVOT, LOAD & FULCRUM, END EXTENSION
2 .......... H604 ............... 42043940 .................. BEARING, LOAD, TRANSVERSE LEVER
2 .......... H612P ............. 40801081 .................. PIVOT, LOAD, TRANSVERSE LEVER
2 .......... H626P ............. 40801080 .................. PIVOT, FULCRUM, TRANSVERSE LEVER
1 .......... H615P ............. 40801076 .................. PIVOT, TIP, TRANSVERSE LEVER
1 .......... H630 ............... 42035173 .................. BEARING, TIP, TRANSVERSE LEVER
28 ........ H618 ............... 42043862 .................. FRICTION PLATES
14 ........ H619 ............... 42035211 .................. FRICTION PLATES
8 .......... H633 ............... 40800890 .................. KNURLED PINS
14 ........ 15301 .............. 20905682 .................. ROLL PINS
10 ........ H637 ............... 40801235 .................. KNURLED PINS

$1,735.00 Sugg. List / 53 lb Ship Wt.

            * Some scales use H647 in place of H601.  Unless specified, we will ship both H601 & H647.
Bearings not used may be returned for credit.

Kit No. H-678-K
Suspension Kit For H-652-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... 33649 .............. 42094659 .................. BALL, 3" DIA CAST
4 .......... H703 ............... 40802638 .................. BALL PLATE
4 .......... H716 ............... 40802656 .................. TEE BLOCK ASSEMBLY

$2,760.00 Sugg. List / 530 lb Ship Wt.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice234

HO
W

E KITS

Kit No. H-653-K
50-Ton, 4-Section Truck Scale, Cast Straight Lever & Super Cast Main Lever Casting No. PC43720, PC55441
or 40802635, Models 5958, 5960, or 5964
EQUIV. HOWE # 70810292
QTY RL PART # EQUIV. HOWE # DESCRIPTION

16 ........ H602 ............... 42043855 .................. BEARING, LOAD, MAIN LEVER
16 ........ H608 ............... 42044397 .................. BEARING, FULCRUM, MAIN LEVER
32 ........ H611P ............. 40801090 .................. PIVOT, LOAD & FULCRUM, MAIN LEVER
24 ........ H617P ............. 40801077 .................. PIVOT, TIP
2 .......... H605 ............... 42043939 .................. BEARING, TIP, SHACKLES
24 ........ H606 ............... 42043938 .................. BEARING, TIP, SHACKLES
10 ........ H603 ............... 42043937 .................. BEARING, LOAD, END & CENTER EXTENSION
8 .......... H609 ............... 42044398 .................. BEARING, FULCRUM, END & CENTER EXT
18 ........ H613P ............. 40801092 .................. PIVOT, LOAD & FULCRUM, EXTENSION  LEVERS
2 .......... H604 ............... 42043940 .................. BEARING, LOAD, TRANSVERSE LEVER
2 .......... H612P ............. 40801081 .................. PIVOT, LOAD, TRANSVERSE LEVER
3 .......... H615P ............. 40801076 .................. PIVOT, TIP, END EXTENSION & TRANSVERSE LEVER
1 .......... H630 ............... 42035173 .................. BEARING, TIP, TRANSVERSE LEVER
32 ........ H618 ............... 42043862 .................. FRICTION PLATE
12 ........ H619 ............... 42035211 .................. FRICTION PLATE
16 ........ H632 ............... 40801166 .................. KNURLED PIN
16 ........ H633 ............... 40800890 .................. KNURLED PIN
34 ........ 15301 .............. 20905682 .................. ROLL PIN
64 ........ 15263 .............. 20906224 .................. ROLL PIN
14 ........ H637 ............... 40801235 .................. KNURLED PIN

$3,025.00 Sugg. List / 88 lb Ship Wt.

Kit No. H-679-K
Suspension Kit For H-653-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

16 ........ 33649 .............. 42094659 .................. BALL, 3" DIA CAST
8 .......... H703 ............... 40802638 .................. BALL PLATE
8 .......... H704 ............... 40802637 .................. TEE BLOCK

$4,450.00 Sugg. List / 890 lb Ship Wt.

Additional parts are needed if the scale has an offset transverse lever or a load cell in the pit.  See Pages 230-231 for
ADD-ON kits for your application.



235© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-654-K
50-Ton, 5-Section Truck Scale, Cast Straight Lever & Super Cast Main Lever Casting No. PC43720, PC55441
or 40802635, Models  5970, 5974
EQUIV. HOWE # 70816905
QTY RL PART # EQUIV. HOWE # DESCRIPTION

20 ........ H602 ............... 42043855 .................. BEARING, LOAD, MAIN LEVER
20 ........ H608 ............... 42044397 .................. BEARING, FULCRUM, MAIN LEVER
42 ........ H611P ............. 40801090 .................. PIVOT, LOAD & FULCRUM, MAIN LEVER
32 ........ H617P ............. 40801077 .................. PIVOT, TIP
4 .......... H605 ............... 42043939 .................. BEARING, TIP, SHACKLES
34 ........ H606 ............... 42043938 .................. BEARING, TIP, SHACKLES
14 ........ H603 ............... 42043937 .................. BEARING, LOAD, END & CENTER EXTENSION
10 ........ H609 ............... 42044398 .................. BEARING, FULCRUM, END & CENTER EXT
22 ........ H613P ............. 40801092 .................. PIVOT, LOAD & FULCRUM, EXTENSION LEVERS
2 .......... H604 ............... 42043940 .................. BEARING, LOAD, TRANSVERSE LEVER
2 .......... H612P ............. 40801081 .................. PIVOT, LOAD, TRANSVERSE LEVER
5 .......... H615P ............. 40801076 .................. PIVOT, TIP, END EXTENSION & TRANSVERSE LEVER
1 .......... H630 ............... 42035173 .................. BEARING, TIP, TRANSVERSE LEVER
40 ........ H618 ............... 42043862 .................. FRICTION PLATE
16 ........ H619 ............... 42035211 .................. FRICTION PLATE
20 ........ H632 ............... 40801166 .................. KNURLED PIN
20 ........ H633 ............... 40800890 .................. KNURLED PIN
38 ........ 15301 .............. 20905682 .................. ROLL PIN
80 ........ 15263 .............. 20906224 .................. ROLL PIN
16 ........ H637 ............... 40801235 .................. KNURLED PIN

$4,025.00 Sugg. List / 110 lb Ship Wt.

Kit No. H-681-K
Suspension Kit For H-654-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

20 ........ 33649 .............. 42094659 .................. BALL, 3" DIA CAST
10 ........ H703 ............... 40802638 .................. BALL PLATE
10 ........ H704 ............... 40802637 .................. TEE BLOCK

$5,560.00 Sugg. List / 1111 lb Ship Wt.

Additional parts are needed if the scale has an offset transverse lever or a load cell in the pit.  See Pages 230-231 for
ADD-ON kits for your application.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice236

HO
W

E KITS

Kit No. H-655-K
60 -& 80 -Ton, 4-Section Truck Scale, Cast Straight Lever & Super Cast Main Lever Casting No. PC52703
or 40802655, Models  6958, 6960, 6964 & 8960
EQUIV. HOWE # 70818312
QTY RL PART # EQUIV. HOWE # DESCRIPTION

32 ........ H601* .............. 42052705 .................. BEARING, LOAD & FULCRUM, MAIN LEVER
32 ........ H610P ............. 40801070 .................. PIVOT, LOAD & FULCRUM, MAIN LEVER
24 ........ H617P ............. 40801077 .................. PIVOT, TIP
24 ........ H606 ............... 42043938 .................. BEARING, TIP, SHACKLES
2 .......... H605 ............... 42043939 .................. BEARING, TIP, SHACKLES
10 ........ H603 ............... 42043937 .................. BEARING, LOAD, END & MIDDLE EXTENSION LEVER
2 .......... H604 ............... 42043940 .................. BEARING, LOAD, TRANSVERSE LEVER
8 .......... H609 ............... 42044398 .................. BEARING, FULCRUM, END & CENTER EXTENSION
18 ........ H613P ............. 40801092 .................. PIVOT, LOAD & FULCRUM, EXTENSION LEVERS
2 .......... H612P ............. 40801081 .................. PIVOT, LOAD, TRANSVERSE LEVER
3 .......... H615P ............. 40801076 .................. PIVOT, TIP, END EXTENSION & TRANSVERSE LEVER
1 .......... H630 ............... 42035173 .................. BEARING, TIP, TRANSVERSE LEVER
32 ........ H618 ............... 42043862 .................. FRICTION PLATE
12 ........ H619 ............... 42035211 .................. FRICTION PLATE
32 ........ H633 ............... 40800890 .................. KNURLED PIN
34 ........ 15301 .............. 20905682 .................. ROLL PIN
64 ........ 15263 .............. 20906224 .................. ROLL PIN
14 ........ H637 ............... 40801235 .................. KNURLED PIN

$3,275.00 Sugg. List / 107 lb Ship Wt.

            *Some scales use H647 in place of H601.  Unless specified, we will ship both H601 & H647.
Bearings not used may be returned for credit.
Scales with serial numbers lower than 74-01106 use H601
Scales with serial numbers higher than 74-01106 use H647

Kit No. H-680-K
Suspension Kit For H-655-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

16 ........ 33649 .............. 42094659 .................. BALL, 3" DIA CAST
8 .......... H703 ............... 40802638 .................. BALL PLATE
8 .......... H716 ............... 40802656 .................. TEE BLOCK ASSEMBLY

$5,520.00 Sugg. List / 1057 lb Ship Wt.

Additional parts are needed if the scale has an offset transverse lever or a load cell in the pit.  See Pages 230-231  for
ADD-ON kits for your application.



237© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit NO. H-656-K
60- & 80-Ton, 5-Section Truck Scale, Cast Straight Lever & Super Cast Main Lever Casting No. PC52703, or
40802655, Models  6970, 8970, & 8980
QTY RL PART # EQUIV. HOWE # DESCRIPTION

40 ........ H601 ............... 42052705 .................. BEARING, LOAD & FULCRUM, MAIN LEVER
40 ........ H610P ............. 40801070 .................. PIVOT, LOAD & FULCRUM, MAIN LEVER
32 ........ H617P ............. 40801077 .................. PIVOT, TIPS
32 ........ H606 ............... 42043938 .................. BEARING, TIPS
5 .......... H615P ............. 40801076 .................. PIVOT, TIP, END EXTENSION & TRANSVERSE LEVER
4 .......... H605 ............... 42043939 .................. BEARING, TIP, END EXTENSION & EVEN LEVER
22 ........ H613P ............. 40801092 .................. PIVOT, LOAD & FULCRUM, END & CENTER EXTENSION
14 ........ H603 ............... 42043937 .................. BEARING, LOAD, EXTENSION LEVERS & F UP PULL
10 ........ H609 ............... 42044398 .................. BEARING, FULCRUM, END & CENTER EXTENSION
2 .......... H604 ............... 42043940 .................. BEARING, LOAD, TRANSVERSE LEVER
2 .......... H612P ............. 40801081 .................. PIVOT, LOAD, TRANSVERSE LEVER
1 .......... H630 ............... 42035173 .................. BEARING, TIP, TRANSVERSE LEVER
44 ........ H618 ............... 42043862 .................. FRICTION PLATE
18 ........ H619 ............... 42035211 .................. FRICTION PLATE
40 ........ H633 ............... 40800890 .................. KNURLED PIN
38 ........ 15301 .............. 20905682 .................. ROLL PIN
80 ........ 15263 .............. 20906224 .................. ROLL PIN
16 ........ H637 ............... 40801235 .................. KNURLED PIN

$4,220.00 Sugg. List / 135 lb Ship Wt.

Bearings not used may be returned for credit.
Scales with serial numbers lower than 74-01106 use H601
Scales with serial numbers higher than 74-01106 use H647

Kit No. H-682-K
Suspension Kit For H-656-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

20 ........ 33649 .............. 42094659 .................. BALL, 3" DIA CAST
10 ........ H703 ............... 40802638 .................. BALL PLATE
10 ........ H716 ............... 40802656 .................. TEE BLOCK ASSEMBLY

$6,900.00 Sugg. List / 1321 lb Ship Wt.

Additional parts are needed if the scale has an offset transverse lever or a load cell in the pit.  See pages 230-231 for
ADD-ON kits for your application.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice238

HO
W

E KITS

Kit No. H-673-K
Dura-Steel Scale Kits, Steel Fabricated T-Levers 20- & 30--Ton, Pit Type, 2 Section

TON SEC LENGTH TON SEC LENGTH
MODELS: S 20 2 8 MODELS: S 30 2 10

S 30 2 8 S 30 2 12
S 20 2 10 S 30 2 14

QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... H616P ............. 40802085 .................. PIVOT, LOAD
4 .......... H620P ............. 40805312 .................. PIVOT, CENTER PIPE ASSEMBLY
3 .......... H621P ............. 40801126 .................. PIVOT, TIP MAIN AND TRANSVERSE
2 .......... H622 ............... 42103282 .................. BEARING, SHACKLE ASSEMBLY
3 .......... H623 ............... 42103281 .................. BEARING, SHACKLE ASSEMBLY
8 .......... H624 ............... 40805916 .................. BEARING, LOAD & FULCRUM
2 .......... H625 ............... 40805922 .................. BEARING, FULCRUM STAND
8 .......... H693 ............... 42040429 .................. ANTIFRICTION PLATE
8 ........................................................................ SCREW

$825.00 Sugg. List / 29 lb Ship Wt.

Kit No. H-671-K
Suspension Kit For H-673-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

4 .......... H711 ............... 42103228 .................. HOLDER, BEARING BLACK
4 .......... H712 ............... 42103227 .................. PIN, TOP (SADDLE)
4 .......... H713 ............... 42103226 .................. PIN, BOTTOM (TRUNNION)
8 .......... H714L ............. 62103221 .................. LINK

$1,430.00 Sugg. List / 139 lb Ship Wt.

Kit No. H-663-K
Dura-Steel Scale Kits, Steel Fabricated T-Levers 50- & 60-Ton, Pit Type, 4 Section

TON SEC LENGTH TON SEC LENGTH
MODELS: S 50 4 45 MODELS: S 60 4 45

S 50 4 50 S 60 4 50

S 50 4 60 S 60 4 60

QTY RL PART # EQUIV. HOWE # DESCRIPTION

16 ........ H616P ............. 40802085 .................. PIVOT, LOAD
8 .......... H620P ............. 40805312 .................. PIVOT, CENTER PIPE ASSEMBLY
5 .......... H621P ............. 40801126 .................. PIVOT, TIP MAIN AND TRANSVERSE
4 .......... H622 ............... 42103282 .................. BEARING, SHACKLE ASSEMBLY
5 .......... H623 ............... 42103281 .................. BEARING, SHACKLE ASSEMBLY
16 ........ H624 ............... 40805916 .................. BEARING, LOAD & FULCRUM
4 .......... H625 ............... 40805922 .................. BEARING, FULCRUM STAND
10 ........ H693 ............... 42040429 .................. ANTIFRICTION PLATE
10 ...................................................................... SCREW

$1,525.00 Sugg. List / 58 lb Ship Wt.



239© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-672-K
Suspension Kit For H-663-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... H711 ............... 42103228 .................. HOLDER, BEARING BLACK
8 .......... H712 ............... 42103227 .................. PIN, TOP (SADDLE)
8 .......... H713 ............... 42103226 .................. PIN, BOTTOM (TRUNNION)
16 ........ H714L ............. 62103221 .................. LINK

$2,860.00 Sugg. List / 280 lb Ship Wt.

Kit No. H-664-K
Dura-Steel Scale Kits, Steel Fabricated T-Levers 50- & 60-Ton, Pit Type, 5 Section

TON SEC LENGTH
MODELS: S 50 5 70

S 60 5 70

QTY RL PART # EQUIV. HOWE # DESCRIPTION

20 ........ H616P ............. 40802085 .................. PIVOT, LOAD
10 ........ H620P ............. 40805312 .................. PIVOT, CENTER PIPE ASSEMBLY
6 .......... H621P ............. 40801126 .................. PIVOT, TIP MAIN AND TRANSVERSE
5 .......... H622 ............... 42103282 .................. BEARING, SHACKLE ASSEMBLY
6 .......... H623 ............... 42103281 .................. BEARING, SHACKLE ASSEMBLY
20 ........ H624 ............... 40805916 .................. BEARING, LOAD & FULCRUM
5 .......... H625 ............... 40805922 .................. BEARING, FULCRUM STAND
12 ........ H693 ............... 42040429 .................. ANTIFRICTION PLATE
12 ...................................................................... SCREW

$1,900.00 Sugg. List / 71 lb Ship Wt.

Kit No. H-684-K
Suspension Kit For H-664-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

10 ........ H711 ............... 42103228 .................. HOLDER, BEARING BLACK
10 ........ H712 ............... 42103227 .................. PIN, TOP (SADDLE)
10 ........ H713 ............... 42103226 .................. PIN, BOTTOM (TRUNNION)
20 ........ H714L ............. 62103221 .................. LINK

$3,575.00 Sugg. List / 346 lb Ship Wt.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice240

HO
W

E KITS

Kit No. H-659-K
Self-Contained Portable Vehicle Scale, 2-Section, 20' x 10' & 25' x 10', Models 1320 & 1325
EQUIV. HOWE # 70819732
QTY RL PART # EQUIV. HOWE # DESCRIPTION

10 ........ H616P ............. 40802085 .................. PIVOT
3 .......... H621P ............. 40801126 .................. PIVOT
3 .......... H622 ............... 42103282 .................. BEARING
3 .......... H623 ............... 42103281 .................. BEARING
8 .......... H624 ............... 40805916 .................. BEARING
8 .......... 15263 .............. 20906224 .................. ROLL PIN 1/4" x 3/4"
2 .......... H645 ............... 42103716 .................. BEARING
6 .......... H693 ............... 42040429 .................. ANTIFRICTION PLATES
6 .................................... 10901952 .................. SCREW

 $835.00 Sugg. List / 31 lb Ship Wt.

Kit No. H-660-K
Self-Contained Portable Vehicle Scale, 2-Section, 30' x 10', Model 1330
EQUIV. HOWE # 70819733
QTY RL PART # EQUIV. HOWE # DESCRIPTION

12 ........ H616P ............. 40802085 .................. PIVOT
3 .......... H621P ............. 40801126 .................. PIVOT
2 .......... H622 ............... 42103282 .................. BEARING
3 .......... H623 ............... 42103281 .................. BEARING
10 ........ H624 ............... 40805916 .................. BEARING
10 ........ 15263 .............. 20906224 .................. ROLL PIN 1/4" x 3/4"
6 .......... H693 ............... 42040429 .................. ANTIFRICTION PLATES
6 .................................... 10901952 .................. SCREW

$935.00 Sugg. List / 35 lb Ship Wt.

Kit No. H-671-K
Suspension Kit For H-659-K & H-660-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

4 .......... H711 ............... 42103228 .................. BEARING BLOCK W/PIN
4 .......... H712 ............... 42103227 .................. PIN, TOP (SADDLE)
4 .......... H713 ............... 42103226 .................. PIN, BOTTOM (TRUNNION)
8 .......... H714L ............. 62103221 .................. LINK

$1,430.00 Sugg. List / 129 lb Ship Wt.



241© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-661-K
Self-Contained Portable Vehicle Scale, 4-Section, 40' x 10' & 50' x 10', Models 2540 & 2550
QTY RL PART # EQUIV. HOWE # DESCRIPTION

24 ........ H616P ............. 40802085 .................. PIVOT
5 .......... H621P ............. 40801126 .................. PIVOT
4 .......... H622 ............... 42103282 .................. BEARING
5 .......... H623 ............... 42103281 .................. BEARING
16 ........ H624 ............... 40805916 .................. BEARING
16 ........ 15263 .............. 20906224 .................. ROLL PIN 1/4" x 3/4"
4 .......... H645 ............... 42103716 .................. BEARING
10 ........ H693 ............... 42040429 .................. ANTIFRICTION PLATE
10 .................................. 10901952 .................. SCREW

$1,660.00 Sugg. List / 64 lb Ship Wt.

Kit No. H-662-K
Self-Contained Portable Vehicle Scale, 4-Section, 60' x 10', Model 2560 & PV 2660
QTY RL PART # EQUIV. HOWE # DESCRIPTION

24 ........ H616P ............. 40802085 .................. PIVOT
5 .......... H621P ............. 40801126 .................. PIVOT
4 .......... H622 ............... 42103282 .................. BEARING
5 .......... H623 ............... 42103281 .................. BEARING
24 ........ H624 ............... 40805916 .................. BEARING
20 ........ 15263 .............. 20906224 .................. ROLL PIN 1/4" x 3/4"
10 ........ H693 ............... 42040429 .................. ANTIFRICTION PLATE
10 .................................. 10901952 .................. SCREW

$1,760.00 Sugg. List / 73 lb Ship Wt.

Kit No. H-672-K
Suspension Kit For H-661-K, H-662-K & H-663-K
QTY RL PART # EQUIV. HOWE # DESCRIPTION

8 .......... H711 ............... 42103228 .................. BEARING BLOCK W/PIN
8 .......... H712 ............... 42103227 .................. PIN, TOP (SADDLE)
8 .......... H713 ............... 42103226 .................. PIN, BOTTOM (TRUNNION)
16 ........ H714L ............. 62103221 .................. LINK

$2,860.00 Sugg. List / 258 lb Ship Wt.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice242

HO
W

E KITS

Kit No. H-675-K
Howe Dura-Steel Light Truck & Livestock Scales, Models  2811-2817, 1270 & 350
QTY RL PART # EQUIV. HOWE # DESCRIPTION

2 .......... H616P ............. 40802085 .................. PIVOT, 1/2" x 1 1/8" x 6 1/2", SQUARE BOTH ENDS
1 .......... H624 ............... 40805916 .................. BEARING, 1" x 1" x 6 1/2", 1/4" HOLE BOTTOM
10 ........ 15263 .............. 20906224 .................. ROLL PIN, 1/4" x 3/4"
8 .......... H644 ............... 42102471 .................. BALL, 2 3/8" DIA CAST
8 .......... H655P ............. 40803860 .................. PIVOT, 1/2" x 1 1/8" x 4", SQUARE BOTH ENDS
4 .......... H690 ............... 40816580 .................. BEARING, 1/2" x 1/2" x 4"
4 .......... H691 ............... 40803894 .................. BEARING, 1" x 1" x 4"
2 .......... H692P ............. 40800899 .................. PIVOT, 1/2" x 1 1/8" x 1 3/16", TAPERED ENDS
1 .......... H694P ............. 40804124 .................. PIVOT, 37/64" x 49/64" x 2 1/2"
2 .......... H695 ............... 42111183 .................. BEARING, 1/2" x 1 1/8" x 1 1/4"
2 .......... H696 ............... 42111184 .................. BEARING, 1/2" x 1 1/8" x 1 1/4"
5 .......... 15256 .............. 10902998 .................. ROLL PIN, 3/16" x 1 1/2"

$725.00 Sugg. List / 31 lb Ship Wt.

Kit No. H-686-K
Add-On Kit, Load Cell In The Pit, 50- & 60-Ton, 4-Section
QTY RL PART # EQUIV. HOWE # DESCRIPTION

4 .......... H604 ............... 42043940 .................. BEARING
2 .......... H609 ............... 42044398 .................. BEARING
1 .......... H623 ............... 42103281 .................. BEARING
2 .......... H612P ............. 40801081 .................. PIVOT
4 .......... H626P ............. 40801080 .................. PIVOT
1 .......... H621P ............. 40801126 .................. PIVOT
2 .......... H637 ............... 40801235 .................. KNURLED PIN

$220.00 Sugg. List / 5 lb Ship Wt.

Kit No. H-687-K
Add-On Kit, Load Cell In the Pit, 50- & 60-Ton, 5-Section
QTY RL PART # EQUIV. HOWE # DESCRIPTION

4 .......... H604 ............... 42043940 .................. BEARING
2 .......... H609 ............... 42044398 .................. BEARING
4 .......... H612P ............. 40801081 .................. PIVOT
2 .......... H613P ............. 40801092 .................. PIVOT
4 .......... H618 ............... 42043862 .................. FRICTION PLATE
1 .......... H621P ............. 40801126 .................. PIVOT
2 .......... H623 ............... 42103281 .................. BEARING
4 .......... H626P ............. 40801080 .................. PIVOT
8 .......... 15263 .............. 20906224 .................. ROLL PIN
4 .......... 15301 .............. 20905682 .................. ROLL PIN
2 .......... H637 ............... 40801235 .................. KNURLED PIN

$330.00 Sugg. List / 10 lb Ship Wt.



243© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Kit No. H-688-K
Add-On Kit, Offset Transverse Lever, 50- & 60-Ton, 4-Section
QTY RL PART # EQUIV. HOWE # DESCRIPTION

2 .......... H613P ............. 40801092 .................. PIVOT
4 .......... H617P ............. 40801077 .................. PIVOT
2 .......... H603 ............... 42043937 .................. BEARING
4 .......... H606 ............... 42043938 .................. BEARING

$160.00 Sugg. List / 3 lb Ship Wt.

Kit No. H-689-K
Add-On Kit, Offset Transverse Lever, 80-Ton
QTY RL PART # EQUIV. HOWE # DESCRIPTION

2 .......... H606 ............... 42043938 .................. BEARING
2 .......... H608 ............... 42044397 .................. BEARING
2 .......... H611P ............. 40801090 .................. PIVOT
2 .......... H613P ............. 40801092 .................. PIVOT
2 .......... H615P ............. 40801076 .................. PIVOT
2 .......... H617P ............. 40801077 .................. PIVOT

$170.00 Sugg. List / 4 lb Ship Wt.



© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice244

HO
W

E KITS

Kit No. H-1203-RK
Howe Railroad Track Scale, 4-Section, 205-Ton, Dura-Steel Fabricated Lever System, 20" Pivots
QTY RL PART # EQUIV. HOWE # SIZE DESCRIPTION

32 ........ H2125RRP ...... 60816859 .................. 3/4" x 1 1/2" x 10" ......... PIVOT, MAIN LEVER LOAD & FULCRUM
4 .......... H2126RRP ...... 40809026 .................. 1/2" x 1 1/8" x 3 7/8" .... PIVOT, MAIN LEVER TIP
8 .......... H2127RRP ...... 40808408 .................. 1/2" x 1 1/8" x 5 1/4" .... PIVOT, TORQUE TUBE LOAD & FULCRUM
1 .......... H621P ............. 40801126 .................. 1/2" x 1 1/8" x 2 1/4" .... PIVOT, TORQUE TUBE TIP
32 ........ H2325RR ........ 60807024 .................. 1" x 1" x 10" .................. BEARING, MAIN LEVER LOAD & FULCRUM
4 .......... H2329RR ........ 42117596 .................. 1 1/2" x 1 3/4" x 4" ........ BEARING, MAIN LEVER TIP
4 .......... H2328RR ........ 42114956 .................. 1 1/2" x 1 3/4" x 4 1/2" . BEARING, TORQUE TUBE LOAD
4 .......... H2322RR ........ K103229 .................... 1" x 1" x 5" .................... BEARING, TORQUE TUBE FULCRUM
1 .......... H623 ............... 42103281 .................. 5/8" x 1 1/4" x 2 3/8" .... BEARING, TORQUE TUBE TIP
10 ........ H693 ............... 42040429 .................. 1 1/4" DIA ..................... FRICTION PLATE

$9,380.00 Sugg. List / 215 lb Ship Wt.

Kit No. H-1203-SRK
Suspension Kit for H-1203-RK
QTY RL PART # EQUIV. HOWE # SIZE DESCRIPTION

8 .......... H2503RR ........ 42117581 .................. 3 x 3 1/4" DIA x 12 1/4" PIN LOWER
8 .......... H2504RR ........ 6211785..................... 2" x 10" x 21 7/8" .......... SADDLE BLOCK
16 ........ H2505RRL ...... 62117580 .................. 1" x 10 1/4" x 21 7/8" .... LINK

$14,770.00 Sugg. List / 1761 lb Ship Wt.

Kit No. H-1204-RK
Howe 200-Ton, 4-Section, Type 7 - 20 - 100, Cast Straight Lever System, Main Lever Casting #1405S
QTY RL PART # EQUIV. HOWE # SIZE DESCRIPTION

8 .......... H2101RRP .......................................... 1"x 1 3/4" x 5" ............... PIVOT, MAIN LEVER TIP
16 ........ H2105RRP ...... 40808259 .................. 1"x  2" x 8" .................... PIVOT, MAIN LEVER FULCRUM
8 .......... H2107RRP ...... 40808260 .................. 1 1/4" x  2 1/4" x 20" ........ PIVOT, MAIN LEVER LOAD
8 .......... H2311RR ........ 40810277 .................. 1"x 1 15/16" x 5 3/16" .. BEARING, MAIN LEVER TIP
16 ........ H2300RR ........ 44019193 .................. 2"x 2 1/2" x 7 1/2" ........ BEARING, MAIN LEVER FULCRUM
8 .......... H2313RR ........ 40808238 .................. 1"x 1 1/4" x 20 1/4" ...... BEARING, MAIN LEVER LOAD
4 .......... H2102RRP .......................................... 1"x 2" x 5" 1/2" ............. PIVOT, END EXTENSION LEVER LOAD
4 .......... H2103RRP .......................................... 1"x 2" x 5" 1/2" ............. PIVOT, END EXTENSION LEVER LOAD
4 .......... H2302RR ............................................ 2"x 2 1/4" x 4 1/2" ........ BEARING, END EXTENSION LEVER FULCRUM
2 .......... H2309RR ............................................ 1 1/4"x 2" x 3" .............. BEARING, END EXTENSION LEVER TIP
4 .......... H2310RR ............................................ 1"x 2" x 4 1/4" .............. BEARING, END EXTENSION LEVER LOAD
4 .......... H2103RRP .......................................... 1"x 2" x 5 1/2" .............. PIVOT, CENTER EXTENSION LEVER LOAD
4 .......... H2103RRP .......................................... 1"x 2" x 5 1/2" .............. PIVOT, CENTER EXTENSION LEVER FULCRUM
4 .......... H2303RR ............................................ 2"x 2 3/16" x 5" ............ BEARING, CENTER EXTENSION LEVER FULCRUM
4 .......... H2309RR ............................................ 1 1/4"x 2" x 3" .............. BEARING, CENTER EXTENSION LEVER TIP
4 .......... H2310RR ............................................ 2"x 1 15/16" x 4 1/2" .... BEARING, CENTER EXTENSION LEVER LOAD
2 .......... H2108RRP ...... 42128770 .................. 1"x 2" x 4 1/2" .............. PIVOT, TRANSVERSE LEVER FULCRUM
1 .......... H2113RRP ...... 40808238 .................. 3/4" x 1 1/2" x 3 1/2" .... PIVOT, TRANSVERSE LEVER NOSE IRON
1 .......... H2116RRP ...... 40808230 .................. 1"x 2" x 9" ..................... PIVOT, TRANSVERSE LEVER LOAD
1 .......... H2304RR ............................................ 1 1/2"x 1 3/4" x 9 3/16" .. BEARING, TRANSVERSE LEVER LOAD
2 .......... H2305RR ........ 43019339 .................. 1 1/2"x 1 5/8" x 4" .......... BEARING, TRANSVERSE LEVER FULCRUM
1 .......... H2307RR ........ 40820611 .................. 1 1/4"x 1 3/4" x 3 5/8" ... BEARING, TRANSVERSE LEVER NOSE IRON

$14,400.00 Sugg. List / 562 lb Ship Wt.

LOAD PIVOT & BEARING MAY DIFFER FROM THOSE LISTED IN THIS KIT. THE OTHER SIZES ARE LISTED BELOW:
THE PIVOT MAY BE 1" x 2" x 20" H2119RRP
THE BEARING MAY BE 1" x 1 1/2" x 20 1/4" H2321RR



245© Rice Lake Weighing Systems  •  Prices and specifications subject to change without notice

HO
W

E 
KI

TS

Railroad Kits

Kit No. H-1150-RK
Howe Railroad Track Scale, 4-Section, 150 -Ton, Type 7 - 12 1/2 - 75
Cast Straight Lever System, Main Lever Casting #14691, 4081390
QTY RL PART # EQUIV. HOWE # SIZE DESCRIPTION

8 .......... H2100RRP ....... 40805933 ................ 1" x 1 3/4" x 3 1/2" ......... PIVOT, MAIN LEVER TIP
16 ........ H2103RRP ........................................ 1" x 2" x 5 1/2" ................ PIVOT, MAIN LEVER FULCRUM
8 .......... H2106RRP ........................................ 1" x 2" x 12 1/2" .............. PIVOT, MAIN LEVER FULCRUM
8 .......... H2108RRP ........................................ 1" x 2" x 4 1/2" ................ PIVOT, CENTER EXT LEVER
4 .......... H2122RRP ........................................ 1" x 2" x 6" ...................... PIVOT, END EXTENSION FULCRUM
7 .......... H2113RRP ....... 40808238 ................ 3/4" x 1 1/2" x 3 1/2" ...... PIVOT, END & CENTER EXTENSION TIP
8 .......... H2103RRP ........................................ 1" x 2" x 5 1/2" ................ PIVOT, CENTER EXT. LOAD & FULCRUM
1 .......... H2123RRP ........................................ 3/4" x 2" x 6" ................... PIVOT
16 ........ H2301RR ......... 40820608 ................ 2" x 2 1/2" x 5" ................ BEARING, MAIN LEVER FULCRUM
4 .......... H2303RR ......... 42061650 ................ 2" x 2 3/16" x 5" .............. BEARING
8 .......... H2306RR ......... 40814207 ................ 1 1/2" x 1 3/4" x 3 9/16" . BEARING
8 .......... H2308RR ......... 42128770 ................ 1 1/2" x 1 3/4" x 3 9/16" . BEARING
8 .......... H2309RR .......................................... 1 1/4" x  2" x 3" ............... BEARING
8 .......... H2312RR ......... 40810276 ................ 1" x 1 1/2" x 12 5/8" ....... BEARING, MAIN LEVER LOAD
9 .......... H2307RR ......... 40820611 ................ 1 1/2" x 1 3/4" x 3 5/8" ... BEARING
4 .......... H2302RR .......................................... 2" x 2 3/16" x 5 1/16" ..... BEARING
1 .......... H2317RR ......... 42114518 ................ 1 1/2" x 1 3/4" x 6" ......... BEARING, TRANSVERSE LEVER LOAD
2 .......... H2305RR ......... 43019339 ................ 1 1/2" x 1 5/8" x 4" ......... BEARING, TRANS. LEVER LOAD FULCRUM

$12,575.00 Sugg. List / 402 lb Ship Wt.

Kit No. H-1202-RK
Howe Railroad Track Scale, 4-Section, 200-Ton, Dura-Steel Fabricated Lever System, 25" Pivots
QTY RL PART # EQUIV. HOWE # SIZE DESCRIPTION

32 ........ H2117RRP ........................................ 3/4" x 1 1/2" x 12 3/8" .... PIVOT
4 .......... H2112RRP ....... 40810276 ................ 3/4" x 1 1/2" x 5" ............ PIVOT
24 ........ H2111RRP ....... 40810277 ................ 3/4" x 1 1/2" x 6 1/2" ...... PIVOT
2 .......... H611P .............. 40801090 ................ 1/2" x 1 1/8"x 2 3/4" ....... PIVOT
1 .......... H621P .............. 40801126 ................ 1/2" x 1 1/8" x 2 1/4" ...... PIVOT
32 ........ H2319RR ......... 40816724 ................ 1" x 1 1/4" x 12 3/8" ....... BEARING
6 .......... H2318RR ......... 40816725 ................ 1" x 1 1/4" x 6 1/2" ......... BEARING
4 .......... H2317RR ......... 4K114518 ............... 1 1/2" x 1 3/4" x 6" ......... BEARING
4 .......... H2316RR ......... 4K114517 ............... 1 1/2" x 1 3/4" x 5 1/8" ... BEARING
2 .......... H2320RR ......... 41039539 ................ 1" x 1 7/16" x 2 3/8" ....... BEARING
1 .......... H622 ................ 42103282 ................ 5/8" x 1 1/4" x 2 3/8" ...... BEARING
1 .......... H623 ................ 42103281 ................ 5/8" x 1 1/4" x 2 3/8" ...... BEARING, TORQUE TUBE TIP
6 .......... H634 ................ 20906224 ................ 1/4" DIA x 3/4" ................ ROLL PIN
32 ........ H674 ................ 20906148 ................ 3/8" DIA x 1 1/2" ............. ROLL PIN
10 ........ H693 ................ 42040429 ................ 1 1/4" DIA ....................... FRICTION PLATE

$15,600.00 Sugg. List / 357 lb Ship Wt.

Kit No. H-1202-SRK
Suspension Kit for H-1202-RK
QTY RL PART # EQUIV. HOWE # SIZE DESCRIPTION

16 ........ H2500RR .........K114407 ................. 1 1/4" x 10 1/2" x 25" ..... LINK
8 .......... H2501RR ......... 62121944 ................ 2" x 12" x 25" .................. UPPER BLOCK WITH PIN
8 .......... H2502RR .........K114397 ................. 4" DIA x 12 1/2" .............. LOWER PIN

$14,700.00 Sugg. List / 2405 lb Ship Wt.


	HOWE
	Price Index
	Cross Reference
	Individual Scale Parts
	Kits
	Railrod Kits


